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Abstract

In this research thesis, we have analyzed further Ramanujan formulas and described
new possible mathematical connections with various parameters of Particle Physics,

Dark Matter, Dark Energy and Cosmology
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Summary

In this research thesis, we have analyzed the possible and new connections between
different formulas of Ramanujan's mathematics and some formulas concerning
particle physics and cosmology. In the course of the discussion we describe and
highlight the connections between some developments of Ramanujan equations and
particles type solutions such as the mass of the Higgs boson, and the masses of other
baryons and mesons.

Thus, solutions of Ramanujan equations, connected with the mass of candidate
glueball f;(1710) meson, the mass of the m meson (139.57 MeV), the value of the
dilaton and that of "the dilaton mass calculated as a type of Higgs boson that is equal
about to 125 GeV", have been described and highlighted. Furthermore, we have
obtained also mathematical connection with the values of some equations concerning
the Dark Matter and the Dark Energy and the value of the Cosmological Constant.

We highlight how the solutions are obtained from the development of the
various equations of Ramanujan's mathematics using methodically and logically
the numbers of the Lucas and Fibonacci sequences that are the basis of the
golden ratio 1.61803398 ....

All the results of the most important connections are highlighted in blue throughout
the drafting of the paper
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Now let us suppose that v=p, and p= P,, so that a,=1 and a,=0.

Then we see that
log p, log P, ™
[IOngaAd[EgT:\, ..................... (54)

for all values of . Thus, for example, we have

p=3, 1l<a;<4;
P1=5, 2<0.<4;
=7 2<a,<6;
=11, 3<a,<6;
and so on. It follows from (54) that, if A < p,, then

axloga=0(logp,), arlogh#o(logp). .cecuneennn. (55) -

where » is any prime, in virtue of (67). From (68) it follows that

REX_logp
V{( + a,) log v} + /log (uv) > ar (1)

s 7 )1,,(“); = o (69)

(159

For: a,=1,v=3,u=8,A=5
sqrt((1+1)In3)+sqrt(In(8*3))
Input:



wf[l+ 1y logi3) +~.f log(8 « 3)

logixi is the natural logarithm
Exact result:

\ 2 log(3) + logi24)

Decimal approximation:
3.265013494991366902300968198490411657156130576483306421385...

3.26501349.
Alternate forms:
\ log(9) +4/ log24)

\'“ 2 log(3) +\(f 3 logi2) + log(3)

Alternative representations:

Vil+Dlog3) +v log® 3) =y 2log.3) +4 log.24)

wf (1+1)logi3) +af log(8 - 3) = s,l' 2 logia) log,(3) +wf log(a) log,(24)

\"[1+ 1) logi3) +«,"1c:g[8 3 =wf-u1[-23} +\"I—2 Liy(-2)

Series representations:

-1 P
m'f[l+1}1cg[3}+vflug[8 3}:@ :10g[2}—z[; +\i1cg[23}_z T

ik
® s Ly L[_IF[;JP;'.J:
\"I[1+ 1) log(3) +\"Ilng[8 3) =\"I10g[24} +>_‘ 21+.lc[ 2 ] RS ke
k=0 ke =0

\"[1+ 1y log(3) +wf1c:g[8 3) =

arg(3 - x I o I
\G E”r{g—}J+10g[x}—Z‘ s s -
2 o

\'i k
! arg(24 - x) & (-1 (24 - x)f x*
\JEIF{TJ+IUE[I}—% E for 0



Integral representations:

' i 6 [ 241
\'Il[l+ll-lﬂg[31+ﬂ.;'llog[8 3}:1}'2\1[ EIH*‘\/[ Edt
Wl J1

Vi« l}lng[m oy log(8  3)

2 ; - o
2 4 caty 275 [=s)" [{1+s) {-s)2 [{14s) ds + 2 [ _j [i=+r 23 S T{-s) C(14s)
" WLy I{1-s) =1 ga+y [1-s)

24

For: a,=1,v=3,u=8,A=5 and a, =7, we obtain:

sqri(((((((n5/(8P1))-In))A(((1+1/7)*(1/Pi * 8) — 1))))))
Input:

. log(5)

- logi8)

m
V(3

logixy is the natural logarithm
Exact result:

log(s)
B

i e E—
V(-
7
Decimal approximation:
2.230772909177534944476347251691237533646566318806771429603... i

Polar coordinates:
r = 2.23077 (radius
2.23077

log(8) -

=90

L]

Alternate forms:

1 24 rlog(2) - log(5)

=i |

2 4 2 [
\ 2(E)T-Yn

1 8 r log(8) - log(5)

2\ 2(3)"-)s

8'm




103‘-:5]

3 log(2) -
: V8
7

All 2nd roots of (log(5)/(8 ) - 1og(8))/((8/7)*(8/x) - 1):

PRl TS’T =2.231 i (principal root)
|
He
log(8) - 2=
gLl i o8 e ~-2.231i

| 1B
Y B

Alternative representations:

LIS log(8) -logia)log,8) + logia)logy (5)
B 5 B
148/m 148/ m
\[1+;} -1\ -1+U+;}
logi5) lﬂg[ﬁ} —lug,.[ﬁ} % ]-:-:-,J:;Swu

R i B S Y e i
P20 _og8) By e Wl

e L)

LS i T S B £ S

Series representations:

4 J. {—l'[k
logis) _log(8) "1 ~logi4) + 8n10g[?}+zk . ank : _kL
‘IT =t
1Ty .
(1371 2J2p1+ﬁﬁﬂn
7
bzl _Jog(8)
[RET
1 i5- (8 -
I —ELH{MJ+151}T2{MJ—1DE[I}+
£ B/ 2 2m
2 2[-1+{}} Jx
@ 1R -k LS [8 Ax)
SHIDE[I’]‘+J§ P Z:‘ for x
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logis)
B

€{1+§f”-1 J }s”

-
|

B log(zg) + 2‘
k=1

- log(8) 1

m— arg{% ] —argizg}
2

m— arg[ —1] —argizg}
2 0
+16ir

— - logizg) +

1" (5 -z ) 55 L B z.;.} o
p L

Integral representations:

5
]—D:f] ~logig) f \/JI [_s, -3+?r}'“

\ (1+ 371 J‘I*EFW

=5 | 342s 2
0S6) _ 1008 ; J””” 2878 (75-2 7 D{-s¥" T{1+s)
. — logis) =i ca+y I{1-s)

\i [1+—;}8!I—1 4\/_1+[g}8,-':r .

Now, we have that:

[(((sqrt((1+1)In3)+sqrt(In(8*3)))))) + sqrt((((((In5/(8P1))-In&)))/((((1+1/7)*(1/Pi * 8)
- )Ir4

Input:

[\K i1+ 1)log(3) + \'ll log(8 - 3) ] 3

I 4
logl5)
oo log(8) ]

log(x) is the natural logarithm
Exact result:

v 2log(3) +i
\

log(8) — &)

4
— Br -dmgmm]

o=




Decimal approximation:

- 179.89023973531393241351454530040983874247827738927828468... +
165.59672955020319932468516382521453982345577162054146754..

Polar coordinates:
r = 244,505 (radius), @~ 137.369°
244 .505

From which:

TH((((sqrt((1+1)In3)+sqrt(In(8*3)))))) + sqrt(((((((InS5/(8Pi))-In8)))/((((1+1/7)*(1/Pi *
8) — I)))]4-29 +4+2

where 7, 29, 4 and 2 are Lucas numbers

Input:

4
L) _15g(8)

?[\."I[l+111c:g[31+1."llug[8 )+ || 204442

N

logix is the natural logarithm
Exact result:

log(8) — &5

LI log(24)

~23+7|v 2log(3) +i

Decimal approximation:

- 1282.2316781471975268946018177328688711973479417249479927... +
1159.1771069150523952727961467765017787641904013437902728...

Polar coordinates:
r = 1728.53 (radius), # = 137.885°

1728.53

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number
1729



From:

arXiv:1103.5870v3 [astro-ph.CO] 20 Apr 2011
Dark Energy
Miao Li, Xiao-Dong Li, Shuang Wang and Yi Wang

We have that:

15.3. Holographic dark energy models

In the following, we will introduce some numerical works ahout the holographie dark

energy (HDE) maocel, which arises from the holographic principle.

In [529], Huang and Gong first performed a numerical study on the HDE model. Mak-
ing use of the 157 gold SNIa data, they obtained for the ¢ = 1 case Q,, = 0.25 003, w =
—0.91 £ 0.01 at 1o CL. Soon after, a lot of numerical studies were performed to test
and constrain the HDE model [156][530]. These works showed that the HDE model can
provide a good fit to the data. For example, in [531], by using the combined Constitu-

tion+BAO+CMB data, Li et al. obtained the following y2, s for the ACDM and HDE

models

Yicpm = 467.775, Xhpe = 465.912. (15.23)

So the HDE model is consistent with the current observations. Similar results have been
obtained in e.g. [532,533,534,535]. Therefore, from the perspective of current observations,

HDE is a competitive model.

10



In addition to the HDE model with future event horizon as the cutoff, the Agesraphic
dark energy (ADE) model [169,170,540] and the Holographic Ricci dark energy (RDE)
model [173] are also motivated by the holographic principle (the ADE model can also be
obtained from the Kdrolyhdzy relation; see [169] for details). In these two models, the IR
cutoff length scale is given by the conformal time n and the average radius of the Rieci
scalar curvature |[R|~1/2, respectively. There have been some numerical studies on these
two models [531,541,542,543,544.545]. In general, these studies showed that the ADE and
RDE models are not favored by current observations. For example, in [531], Li et al
obtained

o iE=481.604, § =R (15.28)

From the above expression, we obtain also:

29 + 3 + 2*[((((sqrt((1+1)In3)+sqrt(In(8*3)))))) + sqre(((((((In5/(8Pi))-
&))/((((1+1/7)*(1/Pi * 8) — 1))))]"4

where 29, 3 and 2 are Lucas numbers

Input:

4
logis)

20+3+2 \"I[1+1}10g[3}+\flag[8 3) |+ L
[

- log(8)

log(x) is the natural logarithm
Exact result:

32+2|y 2log(3) +1i

. 4
log(8) - 222

——E1 1\ logi24)
Y (-

Decimal approximation:

- 327.78047947062786482702909078081967748495655477855656936... +
331.19345911858639864937032765042007964691154324108293508... ¢

Polar coordinates:
r =465.971 (radius), @=134.703° (angle

465.971 result practically equal to Holographic Dark Energy model, where

Xipe = 465.912.

11



and:

7+ 2*[((((sqrt((1+DIn3)+sqrt(In(8*3)))))) + sqrt(((((((In5/(8P1))-
&)Y ((A+1/7)*(1/Pi* &) — 1))N]"4

where 7 is a Lucas number

Input:

Tl [-J[1+ 1) log(3) | log(8 3}]+ L

4

23 _log(8) ]
f 131 /m=8

| 1 R

logixi is the natural logarithm

Exact result:
4

log(8) — 225
7+2 "ull 2103’[3} +!\ [SSI—TSH +4/ 102[24}
LB e |
7)

Decimal approximation:

- 352.78047947062786482702909078081967748495655477855656936... +
331.19345911858639864937032765042007964691154324108293508... ¢

Polar coordinates:

r =483.883 (radius), #=136.808° (angle
483.883 result practically equal to Holographic Ricci dark energy model, where

Xepg = 483.130.

Now, we have that:

Vil + a;) log 2} <

- (Lﬂ:)”’w +wlog (2u), ...(74)

2.+ ay
For: a,=1,v=3,u=8,A=5,a,=4 and a, =7, we obtain:
sqrt((1+4)In2)

Input:
V(1 +4) log(2)

12



Exact result:

4 5logi2)

Decimal approximation:
1.861648705529517066380623159432902129342255676404766270394...

1.8616487055295...

Property:

v 5 log(2) is a transcendental number

Alternate form:

y logi32)

All 2nd roots of 5 log(2):

e’ 5 log(2) =1.8616 (real, principal root)

—_—

&4 5 logi2) =-1.8616 (real root)

Alternative representations:

vV (1+4log(2) =+ 5log,(2)

\"I (1+4)logi2) = 1}' 5 logla) log, (2)

vV (1+41og2) =V 10 coth™}(3)

Series representations:

arg(2 — x) & (=1 2 -xf x*
— +10g[x}—2‘

Vil+4log2) =5 zzﬂ p

k=1

13



1

[k
i k [—1}’(;]Pj.k
Vil+4log2) =-~J’Ei[ 2 ”{]Z—'
ko' Kk

5 1
fo | and pig l and
l + Kk

Yil+dlogi2y =
\"E J log(zg) +

k k .k
arg[z—z.;.}J[ [IJ o (=1 (2 -30)" 55
—— | |log| — |+ logiz }]—
27 ) B e kL Kk

—

BB 55 ' g Y o

+ log(zg) - Z K
k=1

m— arg[i] —argizgh

2

Vvil+4log2) = \,/E

2im

\

Integral representations:

,21
1;'[1+4}1c:g[2}:\'/€ JE.:H
1

—————— [ 5 “i oty T(—5)° (1 + 5)
[1+4}lﬂg[2} =5 _ /—IJJMﬂ‘—-‘-L{j for ] N
2 "q

=i a4y r(l-s)

sqrt(((((((In5/(8P1))+In&)))/(1-((1+7)/2+7)(1/P1 * §)))))) + sqrt(In(2*8))

Input:

logis)
B

+log(8)
1+71/m=8
Not=lom

Exact result:

oz log(8)
8

\

+4/ logi2 ~ 8)

+v log(1l6)

14



Decimal approximation:
4.541180037682496037406077841586219234831459439344165061795...

4.5411800376824.....

Alternate forms:

[ 2 ilogi5)+ 8 = log(8))

z
N -G

+4 4/ log(16)

1 | 24 xlog@) +log(5)
2+ logi2) + - | Toge)* 08

2\ 2(1-(")-

Alternative representations:

l25) | og(8) logia) log,(8) +

logia)log,(5)
B 8

+1J'I1c:g[2 8) :1,l'l logia)log,(16) +

@

m r 10g.[8}+ log,(5)

% + "IJII ].Clg[g 8} = \f lﬂgll[lﬁ} + ﬁ
J +7 87 : v
N =G5 Y 1)

10515] + ]_Dg[s} —L.i. [_?} s Lil.:_4:|
| S— "‘\IIIIDE[E ) :\JII—]'_il[_lS], ¥ : ,Sn
1_[£}8,-:r ."i l_[_g-s.-:r

.\' 247 =

Series representations:

15



bgB) | 10g(8)
L2 atlin ’ql lng[Z 8} =
eyl 4 f1-(2)"
1k 11k
F =y =5
- |logi4) +8rxlog(7) - -8 +
T é k é k
k
g8/ @ (-]
1—(—} logi15) -
2 Y il
]‘:'5‘5’ +log(8)
T \1' log(2 - 8) =
1‘[z_+?} 4,/ 1- (2"
ﬁ\/[?zn{@J 1 !NE{WJ+IDE[X}+E}TIDE[I'}—
T T

i (—1)F (5 —x)f x7*

i (— 1) [8 —xf xk 404 (8}3.“"
+ N

s k % 9
argilh - x 2 - Ae-xf x|

e e
]DE‘E’HG
gi8) \{7

logi2 8) =

()

247
1
1 E F—EIE’[;] —argizg

2im + 16
2

T

T arg[ i] —argisg)
20

+
2

a4 f1-(4"

@ (—1F (5 - 500" 55~
lng[z.;.}+8;rlng[z.;.}—z } 2
k=1 5

& (-1 (8 - =) 55t i
(o]
. k NV 9
n—arg[fﬂ]—argizu} o [—l}ktlﬁ—zn}kzﬁk
2 +logizg) -
im 2n glzo0) ;;1 k

16



Integral representations:

. | f [
- g \8/m ‘16 1 5 1 # 3
gd) | 15g(8) =2} \Hl _dt +\/.f1 P |
Br " L\ log@x8) =
\ -2 —
247 \fl—[ﬁjﬁ =
o
logt) log(8) R —
| B2 log2x8) =
| 1_[E}8’”
\ 247
f [
1 g \8/ ity 1575 T(—sF (1 + 5)
||2[1-(—J ] ||-1[’_ - . WL N
| g \B/my \q 9 "-J i aty I'(l-2s)

I {

| oy 327298 e 2080 s I +:5)
| I

\.-

- s
—i ety Il -s)

From the two above expressions, performing the following calculations, we obtain
also:

47-2Pi+golden ratio*[(((sqrt((1+4)In2)))) + ((((sqrt(((((((In5/(8P1))+In8)))/(1-
(7Y +F))NA/P1 * 8)))))) + sqrt(In(2*8))))))]"3

where 47 i1s a Lucas number

Input:

logi5) log(8)

3
4?—2}T+¢[‘\;‘[1+4}10g[2}+[ A+ log2 8}“

\ l_rE-l_-':r 8
l2+?

# iz the golden ratio

Exact result:

3
logis) log(8)

Y5 logi2) +\'. Sﬂ[ﬁ +v log(l6)
| 1_ _}.,
Q

Decimal approximation:
465.4373873490350218500095499598559745313561462279770965258...

i +47 -2x

465.437387.... result practically equal to Holographic Dark Energy model, where

17



Xipe = 465.912.

Alternate forms:

3
[2 +\KE] log(2) +é J 24”[105[{281'}:“1T'5;E[5]‘ ] +47 -2
201 —(=)""|=
o

p

4?—2}T+2—25 lﬂgg"lz[2}+ g 'JE lugg"lz[2}+ % lngg"lz[15}+ é E lﬂgg"lz[15}+
15 v log(2) log(5) 3 \5 log(2) logi5) . 15 v log(2) log(8) 3 V5 log(2) logi8)
- T - - T - T
16(1-(5)")x  16(1-(5)")n [ -[EJS’"] 2(1 —F)S’”)
]‘:'5‘5’ +log(8) ]':'5':5’ +log®) | ]':'5‘5’ +log® T
! -[5} 1-[51 REC

5 (220 |, 1og(8) o
E log(2) [ S~ *log ) . E lng[E}m 3 log(5) lngilf:u]-
7N -y 6(1-(3)

2 IDE[[E} *[ k]i;m L Jiez@ log(16)+ - 3 5 log@) log(16) +

3 og5) | 1og(8) 3 |5 []‘:'5':5II + lug[E}}
A log(l6)+ - B log(16) +
2 g\&/m 2 g8/
Leofg ) 355ka]
9 =

12_5lﬂg[g}m_'_BIGg[S}*q'SEl:f[lﬁ} , SIGg[E}ﬁ.}SSl:E[lﬁ} .
16{1-(g)")= 2(1-(5)")

\J llzzg[E}[]':'E‘SJI +1|::g[8}} log(16) J 5 lug[E}[]':'g‘EJ + luglﬂ}) log(16)
15 +3

(3" (3"

s

18



-3008 7 +47 . 8287 78T 1, 19847 _ 2THHT  gBIT 2 _

800 rlog®2(2) - 160 4/ 5 mlog¥?(2)+25 25247 g 87 110422y 4
5. 25247 \[5 98" 1 106%2(2) _ 60 v/ log(2) log(5) -
12y 51logi2) log(5) - 480 7 log(2) logi8) - 96 r v 5 log2) log(8) -

[ 2 (log5)+8rlogB)™2 2V24247 g=87 [ 3 (6g(5) 4+ 8 7 log8)*?
m m

- a-(&" "

f L—O (log(5) + 8 r log@)**

2 1/2424/m

9787 (log(5) + 8 w log(8)*?
+ +
[l _ [g ]Blu'n]Bln'Z [l b [E]slu'n )3.-'2 G

@

m(log(5) + 8 x log(8))

e

y e

5 92 T/2+424/m 3 1-168/x Io g[z}

53 Ti2+24(m 3 1-16/x Io g[z}

120 log(2)

‘ 5 rilogi5) + 8 logi8)) ~
5
N Al

10 7 (log(5) + 8 w log(8
190legig) |tV EECD. omn e togiayy Iopcl6) +

("

5. 25°24m  gl18T 1000y 4 log(16) — 12 log(5) v logil6) -
96;r10g[8}\," log(16) — 480 x v log(2) log(16) +

5. 25424  gl-16r o J1og(2) log(16) -

96 7 5log(2) log(16)+ 27247 317167 1\ 510g(2) log(16) +

Q72424 _g1-16 milog(5)+ 8 rlog(8)

(s ) logi(16) -
=15
2 m(log(5) + 8 w log(8
24 M log(16) +
)
@
o7/2424)n _ g1-16/ 5”[102[5}1'34‘.“08'[8}} log(16) -
()"
=)
10 7 (log(5) + 8 7 log(8 /
94 | X108 E:s: 08 10g(16) - 32 xlog*2(16) - 325 xlog*?(16) +
Bl o
e

25424, 98I 10g312(16) + 23247 \[5 98I 1 10g%2(16)
480 rlogi2) y 5log(16) +5 2747 31187 116019y 4 5 10g(16) -
12 log(5) y 5 log(16) — 96 = log(8) 4/ 5 log(16) +

mlogi2) logi5) + 8  logi8)) logi16)

5 29_-'2 +24/m 3 1-16/x

g8/
1-(5)
2rlog(2)(log(5) + 8 x logi8) log(16)
240 i +
4
1-{s)
Q9/2424fx _51-16is 5rlog(2) dog(5) + 8 mlog(8)) log(16)
g18/m
1-(g)
i 10 7 log(2) (log(5) + 8 = logi8)) log(16) /
8 \B/m /
1-(3)
8 8 8m 8y/m
64|-1+nm = [|1+7f = [l+[— ][l-r[—] ]ﬂ'
\ 9 9 9 9
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Alternative representations:

3
I loz3) , logi8)
47 -2x+¢ |V (1 +4 log@) +| | % +y log2 8 || =
| 1 (1
[2+?
I 3
lcg:-[a}‘f arel)

47 - 21+ ¢|\[5log.(2) ++ log.(16) +

3
P hquS]+1|::|g[53} —_—
47 - 2x+¢ |y (1 + 4 log@) + % +v logi2 & || =
| 4 _ (17
247

47 -2 x4+ ¢ \J'ISIDg[ﬂ}logﬂ[E} +Jlug[mlogﬂtlﬁ} + z

ST

[ P 3
logia) log,,(8) + ]—Dg“'“:”g”'“ ]

3
. bel® 4 log®) —
47 -2x+¢|V QL+ log@) +| | 2o +ylog2-8 || =
_[E-S_-:r
24T
| 1. Ly T
, -Liqi-7y - =—
47 -2n+6|V -Liy-15) +v -5Liy-D) + | [S_SITS,T
\ -
o

and:

-29-11-golden ratio+2*[(((sqrt((1+4)In2)))) + ((((sqrt(((((In5/(8Pi))+In8)))/(1-
((A+7Y(2+))NA/Pi * 8)))))) + sqrt(In(2#8))))))]"3

where 29 and 11 are Lucas numbers

Input:

logis) log(8)

3
—20-11-¢+2|¥ A +Dlog® +| | BZ——— +4/ log2 8}“

14+711/m=8
L K i
247
# iz the golden ratio

Exact result:

I 3
g . logi8)
- —40+ 2|y 5logi2) + S:r[ﬁ +v log(16)
N =gl

20



Decimal approximation:
483.3654652569697786108969979147491554737272251125061298130...

483.365465.... result practically equal to Holographic Ricci dark energy model,
where

Yape = 483.130.

Alternate forms:

é[_81—£]+2 v 5logi2) +

3

B 4+ logi(l6)

RSO

| logis)

_
s e

8 [[2 § \E] [- 18 + 85 18T 4[5 [[g]“ - 1]] log*?(2) - 20 [EJST E 1]] _

3 [2 + \{E] ﬁm log(5) +
% [24 [- 10 + 887 . 9187 4[5 [[S]ET E: 1]];r log(2) - lag[Sl]
| 24 1 log(2) + log(5)
\ 20-E)
1

4 [[g]s _ 1],m S [[2 +V5) [- 18 + 857 . 18 L 4[5 [[2]8 E 1]] log*2(2) -
20 [[g Tm J 1]] +3(2+v/5 ) log2) loges) -

) : - e Y- TR
[24[-1D+88’” 918" L 4.5 [[EJ - 1]]n10g[2}—10g[5}]

1
2

24 rlog(2) + log(5)

\ 27

21



Alternative representations:

3
log3) | log(8)
-29-11-¢+2|V L+ log@ +| | ——— +V1og2x8) || =
\ 1-(22)"
247
].Dg!.[a}-r mzylF)
40 -p+ 2 JSlng,.[E} +\"Ilug,.[15} + Tﬁ”
¥ )
3
log®3) log(8) —
-29-11-¢+2|V (1 +4log@) +| | ' ———— +Vlog2-8) || =
\ 1-(32)
247
log(a) log,,(8) + =&/ 10%(5)
-40 - ¢ + 2 \"ISng[mlogﬂ[E} +s,|“1c:g[mlugﬂtlﬁ} + [8 = i
“' 1_ _} e
=}

-29 - ll—¢+2[1.' (1+4log2) +

3
log3) | log(8)
E S logi2 8 || =

1478/m
1-Ae)
, , _L-ll[_.?_r_ Lip -4}
. [ SO, ) EY S A, | S R T, (T Ax
(RO

From the previous two expressions, we obtain also:

((114+3)/1074)i+(7/10°2)i+ (((sqrt((1+1)In3)+sqrt(In(8*3)))))i -
(((sqrt(((((((An5/(8P1))-In&)))/(((1+1/7)*(1/P1 * 8) — 1)))))))))

Input:

lagis) 1 8
11+3 7 - g L))
o¢ i+ Ez+[\f‘[1+lllng’[3}+ﬁlﬂg[8 3}]!—

\(1+3)7 01

22



Exact result:
357 . 103’[8} S5 ]DSSLSJ
ol \ [ﬁ}s;n = +i [\"I 2 log(3) + \'Illcg[ﬂ‘l-}]

7

Decimal approximation:
1.105640585813831957824620946799174123509564257676534991782. ..

Polar coordinates:
r= 110564 radius), #=90° ancle

L]

1.10564

Alternate forms:

| logis)
357 % log(8)- ==
i +4 2log(3) - ,—S’T + 4 log(24)
5000 | [§ }8-'” Y,
T

| I
i[-357 -5000 2 log(3) + 1250 f*??;‘?;‘—f“']:ﬂ'-‘“ - 50004 log(24)
O B

5000

1[35?+5DDD zlagts}+50D0w,falag[2}+1ag[3}] L. [Zasioq@ioxe

et

=000 2 ‘1‘ 2 [[%}S."ﬂ e

Alternative representations:

logi5) |
(11 +3) 7 | 0 s ? ’
%+!_2+[\"I[1+1}102[3}+M"10g[8 3}]1_ | en :_;+_:+
10 10 ST TAST
7
| ~log(a) log, (8) + 2E@ 0%
1[\4"' 2 logia) log,(3) +\"I logia) log,(24) }_ —
“i =Lk [1 - %} =

23



logis) 1
11 +3) 7 . —== — log(8)
od. i +!—+[\"I[1+1}10g[3}+1,"10g[8 3}]1— | 1 =
10° 10° §[1+1ﬁ”_1
7
| log,(5)
7i 14 ~log,8) + ==

i i 2log,(3 log.(24) | -
ll:l2+lﬂ4+[[\‘lll Ol }+\"IDEI[ ]'} “ _1+[1+%}8_-'.-T

log(S) 1
S o . === — log(8)
I : +!_2+[\K[1+1}1ﬂg[3}+‘“0§[8 3}]“ gT—g =
10 10 N (Lot
| .. Liy (-4
7i 14 . BT i
v — iV ~Lia-23) +y -2Li-2) | - ’
10 104

‘1' —1+[1+ -;}S'm

(1/10752) (((1143)/107)i+(7/1072)i+ (((sqrt((1+1)In3)+sqrt(In(8*3)))))i -
(((sqrt(((((((AnS/(8P1))-In&))Y/(((1+1/T)*(1/P1 * 8) — 1))))))))))

Input:
: logis) _1 8
1 11+3 7 - - i ogis)
10%2 | 10* £+ E 1+[‘u" (1+1)log(3) ++ log(8 31],_ .

(IR

Exact result:

lows(5)

S N [mtindiel | '
5000 ‘1| ,:g]s_.'n_l “[‘a'lglﬂg[m +\F10g[24}]

| logiB)-

10000000000000000000000000000000000 000000000000000 000

Decimal approximation:
1.105640585813831957824620946799174123509564257676534... x 1072

Polar coordinates:
r = 1.10564x 10722 (radius), = 90° (angle

3

1.10564 * 102

result practically equal to the value of Cosmological Constant 1.1056%10™* m™
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Alternate forms:

| a s
i|-357 -5000 2 log(3) + 1250 ’”{E;:‘—f“?‘m ~5000+ log(24)
R

50000000000 000 000 000 000 000000 000 000 000 000 000 000 000 000 000

357
; SDDDDDDDDDDDDDDDDDDDDDDDDDGDGDDDDDDDDDDGGDDDDDDDDDDGGDDD+

lozi3)
2

SDDDGGGDDDDDDDDDGGDGGGDDDDDDGDGGGGDGDDDDGDDGGGDGDDDD_
losg (5
1.:.g<sm——s-=5—-

V(5
10000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000

y log(24)

10000000 000000000000000000000000000000000000000000000

1[35?+5|:m|:| 2 log(3) +5000y 3 log(2) + log(3)

50000 000000000 000 000 000 000 000 000 000 000000 000 000 000 000000

i (l 24 1 logi2)-lag(5)
\ 2“:?_]8-'”-1]17
20000000000000000000000000 000000000 000000 000000000000

Expanded form:

25



3571

50000000 000000 000 000 000 000 000 000 000 000000 000 000 000 000 000

logi3)
2

5000000 000 000 000 000 000 000 000 000 D00 000 000 000 000 000 000

lox(5)
1 gh- a2l
o =(®) 8m

I ‘q Ii%]sllln_l

10000000 000000000000000000000000000000000 000000000000 ¥

iy logi24)

10000000 000000000000 000000000000000000000 000000000000

Alternative representations:

) _ '25551—1.:-5:81
{1143} T — . | e
gk +[\K[1+ 1)log(3) +~/1c:g[8 3}]: \ [Ifa
1052 -
[ lowg (i) bog, (5
. . “logila)logg 8+
i 14d b En
e +1{\'fE log(a) log,(3) +wjllog[a}log¢z[24}} \ _14“#]3,.-”
1|:|52
) _ 0415) 10 gym)
(1143)i | 7i B B | SERS e T
Wty 76+ (V1 + Dlog3) +y log® - 3) ) \ i
Fi
10%2 )
I loge(5)
; i “log (B ——
7 14 -
F‘E = +1{3j2 log,(3) + \(lagp[E‘H }— J _1_H:1T'|38':f
7!
1052
) _ 0515) 1o gim)
{1143} T — i AR
Wty 20 (V1 + Dlog3) + log - 3) ) | T

Ti
102

14
104

+

1':'52

+1[1f -Li1(-23) +\({—2 Li1(-2) ] -

\

i -_—
Lil-:—?]—LI -
—— Bm

_1+|: 1+JTI:_:|E="I;r

1|:|52

and also, from the following expression:
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1710752 * ((((sqrt[(((sqrt((((((In5/(8P1))+In&)))/(1-(((1+7)/(2+7)))*(1/P1 * 8)))))) +
sqrt(In(2*8))))) - ((((sqrt((1+4)n2)))))] - 0.50970737445 - (18+3)/10"3-
(4+2)/1074))))

where 0.50970737445 is a value of a Ramanujan mock theta function and 18, 3, 4

and 2 are Lucas numbers

Input interpretation:

logis)

1 +10g[8} T T
AT it 4log@xB) |-y (L +Dlog@) -

52 1im
L= I (= (™

1843 442
10% 104

0.50970737445 -

logixy is the natural logarithm

Result:
1.1056200314... x 1072

1.10562.... %102

result practically equal to the value of Cosmological Constant 1.1056*107% m™

Alternative representations:

losi5)
| o= +ogiE) 43 442

| —&J? + 1.," logi2 8) |- *u"l[l +4) log(2y - 0.509707374450000 - 18—3 e
\ 1,“ 1'“,‘1‘?] 10 10

l|:|52
: 21 6
= — [-0.509707374450000 - — - — +
1072 S
| | log(a) log, (8) + 25X &)
~¥ 5logi@)loge(2) +4 log(@)log(16) + (& 5a
‘H \‘ 1 i _} o
@

27



|l:l"'=§5;| 'I IiS;I
—8"1:::.-” +ylog2 8) |-\ (1+41log2) -0.509707374450000 - 1823 _ 4:2
‘q 1_4ﬁ..| 10 10
10°2
21 & log (B} IDEP:EJ
~0.509707374450000 - 25 — £+ /5 log,(2) ++/log,(16) + WELE
Q
1052
10215) Jngia)
% +ylog2 8) |-y (1+4)log2) -0.509707374450000 - &2 _ 442
\4 1_{2-'-?]. 10 10
1D52

1 21
= —— |-0.509707374450000 - — -

1072 107
I = Liq (4
6 . . e
—+ [VLin15) -y 5Ly + .
10 \j 1_[§}8=”
o
Series representations:
Iﬂﬁi;'+1ug|:83
B 1 L _ _ 1843 _ 442
\ iz +\log2 8 |-V (1+4log2) -0.509707374450000 e
L2474
1|:|52
= -5.31307374450000x 107* +
bg) | 1og(8)
1.000000000000000% 107 | —1 -4/ 5log(2) + E”ﬁ + log(16)
i
logzis) 1 B
w 1 —— + log(8)
2[2] ~1-+/5log2) + ET—“ ++ log(16)
ok Lsfg]

28



|l:l“'=55;| 'I I:S;l
81" . \log2 8 |-y (1+4)logi2) -0.509707374450000 - 1813 _ 242
1,1 1_4 1+'.'-"|8-:r 103 104
2477
1|:|52
= -5.31307374450000x 107> +
logis) logi8)
1.000000000000000x 107 | =1 -4/ 5log(2) + “—S +4/ log(16)
8 g
1=45)
lowsi5) .
Hogig)
[—1]"llc {_é}k -1-45 IDE[E} + —S'EET +y 108’[16}
i "'4 1_{9]
k=0 ki
IEESE;'HDg#SJ
8 18+3 442
[‘1 W +ylog2 8) |-y (1+4log2) -0.509707374450000 -
247

1|:|52
— -5.31307374450000 % 107> + 1.000000000000000 % 1072

/
logig)
arg[ x -+ 5logi2 + mg + log[lﬁ}]

9

explim \'T

2

ID-*=,551+D
LR [—x—m" 51og(2) +‘J —&:s;ng’ +v log(16)
1 —_ L
Qi

k=0
forixe Randx <0

Integral representations:

lox(5) +]Dgn:8:|
R E e 18+3 442
[‘1 7 +ylog2z 8) |-+ (1+4)log@) - 0.509707374450000 - s
247

1':'52
= -5.3130737445000 % 1077 + 1.00000000000000 x 107°*

\/5 J'zldt \/J'lﬁldt 1 JS[ 1 7 ]d’t
1t & s 1 b 1_[&}3."” 1 E}Tt+—3+?t
9

29



442

losi5)
‘ | “gg to5® ' 1843
\1[\} e +\log2 8 |-V (1+4)log@) -0.509707374450000 - £ _ &2

2474

lDSz
= —5.31307374450000 % 107** -

5 +

1.000000000000000 x 1072

_"ql 2im —i oty r[l—.ﬁ}

[
[ [ 5 J‘Iwﬂ r[—.S]l2 r[1+s}d

f
[ 1 Iu-my 15_5”_“2”1”}4

‘ql El.i"l'--fw+y r[l—.ﬁ}

5 +

ds

| 1 f‘-my 2-2@48) 778 (75 4 23428 ) L5 T(L + 5)

-

—i gty i Irl-s)

From this expression, we obtain also:

sqrt[(((sqrt(((((((In5/(8P1))+In&)))/(1-(((1+7)/(2+7)))*(1/P1 * 8)))))) + sqrt(In(2*8)))))
- ((((sqrt((1+4)In2)))))]

Input:

logis) ¥ IDg[E}

e +wf1ng[2 8) —wf[1+4}1c:g[2}

V(N -G

logix) is the natural logarithm

Exact result:

| logis)

logi8)
. -4 5 IDE[E} +\‘_ % +4 108’[16}
\ )

Decimal approximation:
1.636927405889759966244120770868660530542657158847145365367...

1.636927405889.... result that is a golden number and that is an approximation to the
2
value of {(2) = ’% = 1.644934 ...
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Alternate forms:

! (2-V5 )V 10g2) .- ‘ 24 log@) +]og(5)

| | 8/m

\ 2\ 20-())

1 |_4 5log2) + 2[10g[5}+8;lr10g[8}} +4m
2 (1-(2)")-

All 2nd roots of -sqrt(5 log(2)) + sqrt((log(5)/(8 ) + log(8))/(1 - (8/9)*(8/x))) +
sqrt(log(16)):

logt) log(8) —_—

& -4 5log(2) + S”ﬁ +4 log(16) =1.6369 (real. principal root)

N =Gk
' log(S) +lo
; — s g(8)
e —N‘ISIGg[E} - Sn[ﬁ +4 logilf) =-1.637 real roct)
\ \ -
Q

Alternative representations:

]DSLm +log(8)

T +~.f1ag[2 8) —wf[1+4}lng[2} -

.‘1' Jii [21%': }8,:';1

logia)log,i8) + bogte) oz ()

B

!—\"ISIGg[ﬂ}lngﬂ[E} +\flag[mlogﬂtlﬁ} +

‘{ .\i 1- [E}S_-'JT

+log(8)
R +~f1ng[2 8 —\"I[1+4}lng[2} -

¥ 1= [1_+? 8/n
247

logis)
B

log,(5)

log,(8) +

‘—‘jsmgp[z} + 4y log,(16) + e

\(' k‘ 1_[9

31



]-:ug'n:EII ].Dg[s}
ax +\log2 8 |-y (L +4log2) =
147 8/m
)
L7y 2L
VLin15) V5L ¢ | ———
1-(5)

Series representations:

]‘35‘5’ +log(8)

_{E}S!n +*Jlng[2 8) —‘j{l+4}lng[2} _

24T

| 2[10g[5}+85fr102[3}} i+ Tag(1By; =
2 (1-(5)")=

2¢-1y (%
: . 144 o __1 +k k ( -J k
2./5 :nll,-z-mg{g]:uzm] 2 = )
V,_ # E:l k é -1+2;
5 (-1 ¥ =k +m
for ‘ = andpig=1and5p;; I
and k = # and k ..‘
log(5)
+log(8)
L +log2 8 |- (1+4log2) =
-
247

arg(2 - x) - @ -xfx™ 1
E e P e
BT 27 + 10g(x) Z i + .
k=1 1_{§}SIIJT
)
—1F 5-xf

arg(i-x) _ i
2im g J+10g[x} s .l:

arg(B —x
zm{g—}

J +logix) +
m

8xr

i[l} 8 —xf x*

arg(16 - x) LR ) 5o [y o I
2 {—J+1D (x) = forx <0
a 2 5 ; ke
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]':':‘5’ +log(8)

+1f1c:g[2 8 —\K{1+4}10g[2} =

/
1
H—arg[—]—ﬂrg[z.:]} @ k k _—k
-1y (2 -2z0)" 5
S ) B = +1'DE'[ZD]'—Z ¥ ol 2y
2 k
1"1 k=1
\
1
1 n—arg[—]—arg[zﬂ}
I
2im 5 +log(zg) +
. T
(o
N\
(1
r-us{ Ly R
_ bl S s AT AETEQY Ep
EHr[ E +logizo) - X, .
8
i[ 1% (8 - Zn]' %"
k=1
1
n—arg{—]—arg[zﬂ} a0 k k -k
= (-1 (16 —zg)* =g
2 1 -
i G + l0g(En ) Z k

k=1

33



logis)
—== + logi®)
L. +~Jlng[2 8 —\f{1+4}lng[2} =
- ()
247
i
arg(2 - z 1 L U B
—\IE lczlg[..'a'l;.}+{g—u]I [lcg[—JHDE'IZD}]—Z : Ll
EJ'T J Zp k
k=1
1 argi8 -z 1
logi(zg) + IE—D}J (lag(—J + lng[zc.}} +
: 2 oty
1_{§}8;n
o
lcg[z,:,}+[ - J[lcg[zn]ﬂag[zﬂ}] Lo k
8
i (-1 8 - z0) z5*
v
k=1 k
arg(16 —zq) 1 = (-1 (16 - z0)F Zﬁk
logiz {—J(ln [—J+10 (= ]—
glz0) +| — g~ |+ losta) 3 .

Integral representations:

log3) log(8)
B
L147Bim
1- [2+?}

+y log2 8 |- (1 +4 log2)

k=1

5{ 1
T
8nmt -3+7r

Jdt

L={p

9

34
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]':'g“‘“ +log(8)

+\'{10g[2 8) —\'}[1+4}10g[2} =

V0N

s [ 147 }5-'"

247
| |
LI | Quze2din [ ’_Ij'mw r(-s)* ri+s)
V2 Vr | R N e Td-9)
9
| o4y T(=5) (1
i I oad — 8 5
0% [ 10 (-IJ B Rl STl B
"1] —i sty Il -s)
f
glize24jr | f"‘”” 157 r-sy Il i +yf2 9%
"q —i caty r(l-s)
————
ooty 157° [(=5)* T(1 +5) . 8 8/
‘_!Jh}aﬂf + o gS,uT ’[1_(_] ]}T
‘q —i ety ril-s) "q 9
’JJ\}U+}' § IR I245) e [?5+23+25}T}r[—5}2 r[1+5}.r,{5
—i caky ™ Il -5)

Now, we have that:

lcrgP
|
w(u) T BH

| 4{(1+a.) log 2} < T e | T VI (24), ciieen(76)

For Py =8, u=28 and a,=5, we obtain:
sqrt((1+5)*In2)

Input:

y (1+5)logi2)

log(x) is the natural logarithm

Exact result:

4 6 logi2)

Decimal approximation:
2.039333980337617935535357199891776137260436887536507839347...

2.0393339803376....
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Property:
y 6log(2) is a transcendental number

Alternate form:

v logi64)

All 2nd roots of 6 log(2):

A6 log(2y =2.0393 [real. principal root)
2740 6 log(2) =-2.0393 (real root)

Alternative representations:

Y (1 +5)logi2) =+ 6log,2)

wf (1+5logi2y = 1/' 6 logia) log,(2)

v (1+5)log2) =V 12 coth™(3)

Series representations:

arg(2 - x) @ =1F 2 -xf X
Vvi(1+5log2)y =y 6 IE”{E—J”"EW“L i forx <0
\1- 2 e k

o

ifk
(=1F ( . ]Pj.k

“a

-1+2j

:I:.'

o lak
1u"[1+5}10g[2}:—\/€2‘[ g " ]
ko' Kk

vy (1+5logi2y =
V6

logizg) +

arg[E—z.;.}J( S -1 [E—Zn}k za""

1
og[ ) gt
ngz +logizg) i

o k=1
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1
=
2

] —argizg) bl 1}*‘ (2 - z.:.}k Eﬁk

+ logizg) - L
k=1

- arg[

k

1;'[l+5}10g[2}=\!€ 2im
\

Integral representations:

— | 121
Vil+5logi2) =6 \( [ Edt
1

f
[3 |  [isesyD=sPT(L+5)
Yy (1 +5)log(2) :\I— —1]1 +r—+d5 for
T\

—i gy I(l-s)

sqrt(((((((In8/(8P1))+Ing)))/(1-2)"-(1/P1 * 8)))))) + sqrt(In(2*8))

Input:
mﬁng[ﬂ} 1.,1"—
| ——————— ++ logi2«8)

log(x) is the natural logarithm

Exact result:
f

I . log(8)
"ql 1" (lc:g[EH Dgg ] ++ log(16)
o

Decimal approximation:

2.62624985832789674527981598326083755705846176389602008347... +
1.11282908370628276571715284055639164666075895853101443021. ..

Result:

2.6262498583278... +
1.1128290837062...

Polar coordinates:
r = 2.8522932682158 (radius
2.8522932682158

6 =22.963982933012° (angle

3
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Alternate forms:
[

|
1 31" (1+8
Loy, [BED U8R | poat
2 \ 2
] e
1| |21 (1+8mlog8
:1_ ‘1( el st e L1l +4 4 log(16)
Fin

( 3(-1)¥" (1 +8mlog2)

log(2 -
g“z S

Alternative representations:

log® log(8) log(a) log,,(8) + logia) log, (8)
g L Jlog2 8 = logia) log,(16) + A
N a-zn 8 i i \ o
]Dg{ﬂ'l 10 ]DEF':S:'
giB8) log,(8) +
S*—S +v log(2  8) =+ log,(16) + —ST
-‘1 (1 -2y “‘ (—1y 8/
logi®) log(8) _Lij(=T)— Liy (-7}
S—g +‘Jllgg[2 8) :14'{—]_.'[1[—15} + pp 81
\ (1-2y™" (-1y%"
Series representations:
]Dg'-:ﬂil +lo
gi8)
.\‘ W +4 log(2 - 8)
1| [2(1+8m S i[“; i[‘?ls}k
- —— "log(7) - +4 |log(l5) - Y
4 m \1 e ‘1‘ 25 k
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loz® 4 1o
g8
S”—. +4 logi2  8) =
(1= 2y
1| [2¢(1+8 - [“l}k | - [‘_l}k
(L+8m 8/n - 7 - 15
1 - -1) lcg[?}—z % +4 103[15}—2‘ K

k=1 k=1

lozig)
B

+log(8)

W +4 103’[2 B =

1| [2(1+8m) aii arg(8 - x) LB By
:1- T 1[—1]' EN{TJ_IIGED"}-’-!L K +

k=1

arg(16 - x) @ (=1 (16 -x)F x7*
2 {—J logix) - forx <0
¥ 7 + logix) % i

4

Integral representations:

]Dg‘-:ﬂil +1o l .
g[s} 3 ,SE+—
+vy log(2 - 8) = J - dt + ([—I}S'UTJ = dt
\ [1 e v L B
lozig) +1o -
gi8) 1 i sty 157 [(—=s)° (1 + 5)
B
—————— Y logi2 - 8y = 3 2 /—IJ dsi +
'\1 [1_2}—8317 g 2+ "-4 —i ety r(l-s)
o 75 (1+8mI(-s” (1
2y /[—hmjm”‘! CA Y L s | for-1 0
"q —i oy 16 7* Il-s)

sqrt((1+5)*1n2) + sqrt((((((In8/(8Pi))+Hn8)))/(1-2)*-(1/Pi * 8)))) + sqrt(In(2*8))

Input:
logz(8)
+ log(8)
v (1+5log2) +,| 2=——— +4/log(2x8)
i1 _2}—{1,11 2y

log(x) is the natural logarithm
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Exact result:
|

; log(8
+ 6log(2) +,‘ﬂ|I T [10g[8}+ s

)
+

4 log(16)

Decimal approximation:

4.66558383866551468081517318315261369431889865143252792281...
1.11282908370628276571715284055639164666075805853101443021. ..

Result:

4.6655838386655146... +
1.112829083706282...

Polar coordinates:

r = 4.7064633976670146 (radius), &= 13.41545756756264° (angle
4.796463397...

Alternate forms:

|
1 [3-1¥"(1+8m | T——
- 2[2+*~.,"I5]+ | T Wieg2)

\ 2

|

1 |3¢-1¥"(1+8mlog2

[2+.'5].'10g[2}+5‘1| (—1) [2+ m) log(L)
FiB

|
[ 2(-1)¥" (1 +8mlog8)
| RERRY i al1nE016)

\ n

1
:]- 4 5108’[21 -

Alternative representations:

azill o log(8)

v1+5log@) +,| =——— +ylog@x«8) =

N\ a-2%"

log(a) log, (8) + 2&2/°%(®)

\ (= 1y"8"

B

\"Iﬁlng[ﬂ}lugﬂ[ﬁ} +~J log(a)log,(16) +
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logzig)
== 4+ log(8)
v (1 +5)log(2) +Ili S*—ST +4y log2 8 =
\  (1-2y"
].Dg!.[ﬁ}-r 1_03.--:83
\6log,(2) ++/log,(16) *\ 1—88
o ol
lagig)
=52 4 log(8)
v (1 +5)log(2) +"n E—ST +v log(2 8) =
| (1-2)7%F
' 2 B e Lip (-7}
[ : \‘,’ : 1 B
y -Li1(-15) +4/ -6 Lij(-1) +\_ =
' g

From the above expression, we obtain also:

((((sqrt((1+5)*In2) + sqrt((((((In8/(8Pi))+In8)))/(1-2)"~(1/Pi * 8)))) +
sqrt(In(2*8))))))"4

Input:
- 4
lazig)
ey, ==+ log(8)
"u'l (1+5)logi2) +\ SJT—H +4 log(2 4 8)
(1 = 2T

log(x) is the natural logarithm

Exact result:

4
logi8)

i

[
v 6log(2) + ‘q’ 3 [lng[EH ] +4 log(16)

Decimal approximation:

313.624153467200507726425063775981085497960469912665610108... +
426.351955344080351266816517976641547222607599476951064670...

Result:

313.624153467200507726425063775981085497960469912665610108... +
426.35195534408035126681651797664154722260759947695106467. ..

Polar coordinates:
r = 529.278848494570791921383626827530338351961037824615962104 (radius
, #=53.6618302702505860065207310747436938887833482294344567161°

ERyE=d ]
ol 11 IE
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529.278848....

from which:

(((sqrt((1+5)*1n2) + sqrt(((((In8/(8Pi))+In8)))/(1-2)"-(1/Pi * 8)))) +
sqrt(In(2*8))))))4 - 76 — 7

Input:
4
i log® . log(8)
v (1+5)log@) +,| 2=——— +y log@2@x8) | -76-7
'1|! (1= 2}-': Lim«@)

logixy is the natural logarithm

Exact result:
| 4

— ; log8)y T
ogld) +_[(—1)" Ogio) +
+ 6log(2 ‘u' 1) (logi8) + —2

+4 log(16) | -83

Decimal approximation:

230.624153467200507726425063775981085497960469912665610108... +
426.351955344080351266816517976641547222607599476951064670...

Input interpretation:
230.624153467200507726425063775981085497960469912665610108 +
426.351955344080351266816517976641547222607599476951064670 i

iizthe imaginary unit

Result:

230.624153467200507726425063775981085497960469912665610108... +
426.35195534408035126681651797664154722260759947695106467. ..

Polar coordinates:
r = 484.730327077008394980402606855331361735026116886783220443 (radiu
, #=61.5809651875251867000990940879765853576495842035376433576°

484.7303327 result very near to Holographic Ricci dark energy model, where

XapE = 483.130.
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Furthermore, we have:

1/10752% ((((2.8522932682158 - 2.0393339803376)+29/10°2-+(18+7+2)/10"4)))

Input interpretation:

1 29 18+7+2
— [[2.8522932582158 -2.0393339803376) + — + ]
1072 10° 10%

Result:
1.1056592878782 = 102

1.10565928...%10?

result practically equal to the value of Cosmological Constant 1.1056*107% m™

We have that: (page 127)

|W{(1 +a,)log »} — ¥log (u»)| < 7 (u)

]__1_.:1.'\,‘L Uwig) | ?
=)
2 4+ ax

...(71)

For: a,=1,v=3,u=8,A=5,a,=4 and a, = 7, we obtain:

sqrt[((1+D)In(3))] - sqrt[(In(8*3))]

Input:
v (1+1)log3) - log® - 3)

logix) is the natural logarithm

Exact result:
\ 2 log(3) - log(24)

Decimal approximation:
-0.30040588025634475062715408476719799255682135573247520136...

-0.300405880256.....
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Alternate forms:
\ log(9) -y log24)

\"I 2 logi3) —\(I 3 logi2) + log(3)

Alternative representations:

Vil+Dlog3) -y logd 3) =y 2log.3) -y log.(24)

v’ (1+1)logi3) —wf logi8 - 3) = ‘f 2 logia) log,(3) —wf log(a) log,(24)

\"I[1+ 1)logi3y —wflc:g[& Y —wf—Lil[—EB} +~.f—2 Li1(-2)

Series representations:

11k 11k
W == P

v+ 1) log(3) — log(8 - 3) = \E | IDE[E}_E [ z} _ | o3 - X‘ [ =
.\ k=1 k k=1 k

o 1
oy Zxgk 3
\"|[1+ 1) log(3) —\J" log(8  3) = -y log(24 +2 14k [ i ]
k
k=0

for | — and p;o = 1 and

\"[1+ 1y log(3) —wflug[ﬂ 3 =

5
\

arg(3 - x I o I
Eur{g—}J+10g[x}—Z‘ } }
k=1

k

h

arg(24 - x) @ -1 @24 -xf x*
TR o] [N
BT + logi(x) 2‘ 3

T
k=1

Integral representations:

[ a1l 24 ]
\"I[1+1}10g[3} —'aflug[ﬁ 3 =42 \/J Edt _\{j E‘“
1

1
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Jl+Dlog@) -y logB=3) =

. -5 2 | : -5 2
g oty 277 T{=5)" [[14s) - s ity 2377 T=sr" T{14s)
2 \/ i _]'_d.W+T =T ds —v 2 i R s s
2N«

and:
sqrt[(((((((In5/(8P1))+1n8)))/(1-((((1+7)/(2+7)))*(1/Pi*8))))))]

Input:

| h:ug':SJ_'_lUg[a}

B
-‘i 1- [E}l_-':r 8
247
logix is the natural logarithm

Exact result:

log5) | log(8)
B

Decimal approximation:
2.876070815367100524699748551795817139570281734815283603461...

2.876070815367....

Alternate forms:
1 | 24 xlog2) + log(5)

2\ 2=

: logi5) + 8 w log(8)

L
2\ 20

| 3log@)+ ‘—‘3:‘5-‘

m

Vo
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logis) lcg[E}
&° S— =2.876 (real, principal root)
-
_ ogi) | 1og(8)
fm | 81 . _2.876 (realroot)
()

Alternative representations:

]Ds;[;m +log(8) log,(8) + ]Dg"m
1+78/m - 8 s,.n
N L
105‘5’ +log(8) logia) log,,(8) + ]—DE‘E::E“‘SJ
1474 8/m = g8/
V=™ A 1-£3)
]‘:'5‘5’ +log(8) -Liy(-7) - L'l‘_‘h
147 \8/m = g S.JT
\ 1 -[ZT?P N A=)

Series representations:

_l-:["

1-:-8;:&: +log(8) J logi4) + 8 x log(7) - &, JJ;— LY
am

e [1_+?}3-"”
247

2 J2(1-(2")s
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+log(8)
8 -
pe [ il -
247

1 argis —-x argi8 - x
[ [szr{ g }J+15Hr2l & }J+10g[x}+8fr10g[x}—
o o1 (2 2 2m

(1-(3)")

[1}[5x}x = 1]-[8x}x
> or 3 forx <0
k=1 k=1 ]
105‘5’ +log(8)
+7 BT =
-[é—j}
1 n—arg[—l]—arg[z.;.} n—arg{iJ—arg[z.;,}
2im o +16in° | +
St \‘ 2 2
2 2[1-{5} IE:
w o ke o ok & w o 1kom ok &
lag[zc.}+8;rlag[z.:.}—z[ 1y [Skz.;.} 20 —EJ'TZ[ 1y [Skz.;.} Zn
k=1 k=1
Integral representations:
J =g | ek + 55
¥ 1478/ S
[2+'}'} 1- [g} i
/ i oy 2878 l:'?s 423425 n:lrni—s;nz {145 d
logls) 1 8 _1_4 -ISJT —i a4y [(1-s) 4
= + logla) "q ; |
; = o1 0
We have that:
log o
[ log 2 ""(‘“') G 1
‘\rfl.(l + a‘l) og 1 > 1\ i '5/ og (2.“)1 '"(?3)
(1 ) -1
@a
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sqrt((1+4)In2)

Input:
vV (1+4) log2)

log(x) is the natural logarithm

Exact result:

4 5 logi2)

Decimal approximation:
More digits
1.861648705529517066380623159432902129342255676404766270394....

1.8616487055295....

Property:

v 5log(2) is a transcendental number

Alternate form:

y log(32)

All 2nd roots of 5 log(2):
¢’ \ 5 log(2) =1.8616 (real, principal root)

¢' "y 5log(2) ~-1.8616 (real root)

Alternative representations:

vV (1+4log(2) =+ 5log,(2)
Y il+dlogi2y = 1,1"5 logia) log,(2)
vV (1+41og2) =V 10 coth™}(3)

Series representations:

arg(2 — x) @12 —xf a7k
{g— +10g[x}—2‘

V(l+4log2) =v5 |2ir p

k=1
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( l}f[k]P
o 1 k : ik
- S k 7 =
\J'[1+4]'1Dg[2} :—‘\J”EZ[ 2+ ]ZT
L= k _,:=l:| —1l+a ]
5 |

r--!| | — and pjo =1 and

and k Z and k U

Yil+dlogi2y =
arg(2 - z 1 B R on
V5 J1Dg[2|:|}+{E—MJ(IUE[—J-I-lUg[ED}]—L L
2 i

0 - k

—

m— arg[i] —argizgh

2

BB 55 ' g Y o

+ log(zg) - Z X
k=1

Yil+4logi2)y = \E

2im

\

Integral representations:

,21
1}{1+4}1ag[21:\"€ JE.:H
1

5 i ooty [(=5F T(1 +35)
Vil+4log2) =,/ — /-;J‘mﬂ; ie fori 0
2 "q

—i sty I(l-s)

sqrt(((((In5/(8P1))-In&)))/(((((((1+1/7)))*(1/Pi * 8))-1)))) - sqrt(In(2*8))

Input:

lagis)

- log(8)

W -y log(2 - 8)
L1

log(x) is the natural logarithm
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Exact result:

—y logil6) +i

logis)

| log(8) -
! 'SII'JT
VG-t

Decimal approximation:

- 1.6651092223153955127063292897904020052611777045288814583... +
2.2307729091775349444763472516912375336465663188067714296...

-1.665109222315 +2.23077290917 i

Polar coordinates:
r=2.78369 radius , B= 126.739° (anegle

2.78369

Alternate forms:
24 rlog(2) - log(5)

1
-2/ logi2) + s 1\ 2[[3}8 . 1]}1’

4 g8/
N\ (G-

—

[ +4i4 2log(2)

i \J “ -IST 1'|

22

Alternative representations:

105-:51 103’[8}
\K logi2  8) = y{lcg[ﬂ}lugﬂ[lﬁ} -

~log(a) log, (8} + ‘”g“““ﬂsai'-“

1 += - \i -1+ [1 - —}
LB _1og8) _log, (8) + 25
T, _s,"lcgtz B) = —w,’llc:g,.[lﬁ} + - S{T
.‘1i [1+‘.1}'UT—1 \1 —1+[1+$}";r
log(5) W lag[s} L.l. [_.?} _ Lil':—4]
| 5. e - —\'Illﬂg[z B = —w"l—L'Ll[—15} + : 18;:”
N i \o=tfLas)
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Series representations:

- \il lng’[E 8} ==

logis)
7 log(8)

{1+§}3“'"—1

-hl-—-
|

e

—

e
=
+

k
—10g[4}+8n10g[?}+z{ } -8
I| k

1]
-

SI.IT

=) + log(15) - Z

]Dg-:S:l

- logi8)
= -4 log(2 8) =
fm )
{1+ 7) 4 —1+{§}8-'"
2 argis —x arg(8 —-x
T —21';T{E—}J+1I51;r2 {E—}J—lng[x}+8;rlug[x}+
T 2 2
= [—l}k [E—x}kx = 1} [8 x} 8.8/
2 K 2 = _1+[§J
k=1 k=1
arg(16 - x) (=1 (16 —x)f x*
ZM{—EN J+10g[x}—z X forx <0
k=1
]‘:'SL‘S’—Ing[E}

-4 log(2  8) =

148/ m
N (g
1
1 5 T— arg[—] —argizg)
e —] e Y -2im & -
— T 2
4 —1+{;}
n—arg{—l]—arg[z,;,}
16in° i - logizg) + 8 wlogiza) +
2m
i[—l}“ 5-30f 55" i[ 1) (8 - z.:.} %" i 1+[§]9-"”
= [ = \ 7
1
n—arg[—]—arg[z.;.} aa ke k =k
) (-1 (16 — zn) Zn
2 | N
B e + logizn) Z i

k=1



Integral representations:

|1ngn:51 lag[E}
-+ log(2 « 8) =

148/ T
L
8/ 16 . 5
J-1+ I \”11 L dt -z\”ﬁ[-ﬁ + )t
g8/
-1+(8)
bEB) _1og(8)

~+ log(2x8) =-—

-1+ (3)")
[,le[—1+(§]gm] ‘Jl—: J'mﬂ 157 I{-s)y® F[1+s}‘“ _2”‘/;

7 —i ity [(1-s)

|
| pivaay § 272 @MW) g ML ) M T(T45)
\JJ - ds | tol

—i sy fl'zr[j-—-ﬂI

and, from this expression:

logp, _
(1) log ¢

ViA +a)log 2} >, [ | = - Vlog (2u),

Forp,=7,u=8 and a,=5, we obtain:
sqrt((1+5)*In2)

Input:

y (1+5)logi2)

52

......... (75)

log(x) is the natural logarithm



Exact result:

4 6 logi2)

Decimal approximation:
2.039333980337617935535357199891776137260436887536507839347...

2.03933398...

Property:

v 6log(2) is a transcendental number

Alternate form:

y logi64)

All 2nd roots of 6 log(2):
24 6 log(2) =2.0393 (real, principal root)

&6 log(2) =-2.0393 (real root)

Alternative representations:

v (1 +5)logi2) =+ 6log,i2)

\"I (1+5)logi2) = \fl 6 logia) log,(2)

v (1+5)log2) =V 12 coth™(3)

Series representations:

arg(2 - x) @ =12 -xf Xt
{E—J +log(x) - Z‘

'\f[1+5}10g[2}:\,"? |2in P

k=1

&= lak) & Y P
T - 5ok 5
i=0

ko' Kk
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v (1+5log2) =

—

V6

arg(2 - zg) 1 B ) 00
logizg) + E—J [lug[— J +log(zg }] -
g

i 0 ke k

—

1
B o perting sl
f i =12 —m ) E
(1+5)log(2) =y 6 |2ir z; +10g[z,:,]._2‘ ) 5 0l Ep
| T
\i k=1

Integral representations:

— | 121
V(1+5)log@) =6 [ - dt
J1

|
3 | “i sty [{—5)° I(1 + 5)
‘u'[l'l'S}].Dg[E} :\I— —jj‘ +T; ds Tol | N
T\

—i gy I(l-s)

sqrt(((((((In7/(8P1))-In8)))/(2)"(1/P1*8))-1)))) - sqrt(In(2*8))

Input:
log(7) _ la
e giB8)
(8"— -4 log(2 - 8)
"q zl_l:r g8 _ 1

logix is the natural logarithm

Exact result:

’ log(8) - 1—05*?]
— log(16) +i,| ——2%-
Ll

Decimal approximation:

-1.665109222315395512706329289790402095261177704528881458... +
0.6430109471061812284241054925802856721715609936022867035. .. &

Polar coordinates:
r=1.78405 radius # = 158 885" -|!'!_"!"

3

1.78495
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Alternate forms:

logl7)

log(8) - &7
~24/ log(2) +i | —2%-

v 256 -1

I
el | 24 rlogi2) - log(7)
-2+ log(2) + - i || il Og, °8

2 2(2%" _1)x

f
1 2 (8 rlogi8) - log(7n

— i || i g 2 +4 iy log(16)
4 |y (287 _1)x

Alternative representations:

T | ¥ i
| 220 _log(®) (02 B - oo bnde | log@log,® + MR T
— ———— -V log(2 - 8) =-v log(a)log,(16) + &
‘IJ 28_!.-1’ s 1 g g gﬂ ‘.q ~ 1 " 28_:.-1
| log(7) - 105[8} v} : —105,.[8} e ]n:,.-:'?]
| =f——— 4/ log2 8) =—4 log,(16) + :
Y : ."i gl
T | 5 17 (=
i J J | L7 - e
—————— —ylog(2 8) =-v -Li1(-15) +4| ————"—
"1‘ ES_UT = "q o ES'UT

Now, from (71) and (73), we obtain:

sqrt[((1+DIn(3))] — sqrtf(In(8*3))] + sqrt[(((((In5/(8P1))+1n8)))/(1-
((IH7YR+NA/PIES))))))] + sqrt((1+4)In2) + sqrt(((((In5/(8Pi))-
&)y ((A+1/7)))*(1/Pi * 8))-1)))) - sqrt(In(2*8))
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Input:

logi5) , log(8)
'\III[1+ 1}103’[3} —\Klng[ﬁ 3+ %
+7 b7
} [2+?
lagis) o
—== —log(8)
Vil+4log@) + STT -V log(2 < 8)
(1+2)7 -1
7
logix is the natural logarithm
Exact result:
lug[ﬂ} _ logis) logis) + 103’[8}
V5log2) +v 2log3) +i [$$18n . | e - B prersoll o
-1 1-(2)"
7 Q

Decimal approximation:

2.77220441832487732774688833667111918109453835095869321415... +
2.23077290917753494447634725169123753364656631880677142960...

Polar coordinates:
r = 3.5583 (radius), 8= 38.8234° (angle

3.5583

Alternate forms:

2 (8 xlog(8) - log(5n
+

v (3T -1

E[ID[g[S}{J;T;;lDE[SH _4m-4m
1-(2)"")x
Q

[\'{E —E]y'rlng[z} +wf21c:g[3} —\,{(310g[2}+10g[3} -

1
= 451log2) +4+ 2log3) +i

1
2N 2 ge 2 2(-(2)

24 rlogi2)-logi5) 1 | 24xlogi2)+logi5)
:

{

s i Ezﬁ[[z—ﬁ]vrlngtz} —slecg[m +wj'31c:g[2}+lng[3} +
242
24 rlogi2) - logi5) ‘ 24 rlogi2) + log(5)
‘m T Iy
L (5 A VE S A (S H i L
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Alternative representations:

log®) log(8)
\'II[1+1]I1DE'[3} —\"Ilc:g[ﬁ 3+ % -
| LT B
\1 s [2+?}
]Dg-:Si I
g(8)
v i(l+4logi2) + [— -4 log(2  8§)
| 1+ -1
7)

\fIS logia)log,(2) + \l' 2 logiay log,(3) - \{lcg[mlngﬂ[lﬁ} - \(I logia) log,(24) +
logia)log,is)
B

~logia) log,(8) + logia) log,8) +

-1+ [1 - —;}S"I" *‘i' 1 - [g}sjn

logia)log,(5)
87

logt5) +log(8)

.“, Ehs [—1_,_?}8-'1 +4 (1+4 log(2) +
| 1 I i
247

—+y log(2 - 8) =+/5log,(2) ++ 2log,(3) -

\'f[1+ 1) log(3) —\'f logi8  3) +

1ngf51

‘*4[1+}

- log(8)

1-:-5,-; i 1-:5.-:5:'

-log,(8) + log,(8) +

B

\ii —1+[1+ HS;” +\' Tg}&n

\ log.(16) -/ log.(24) +

logt5) +log(8)
\'f[l+1}1c:g[3} —\"Ilc:g[ﬁ 3+ | E—— s+ (1 +log@) +
| i [E}S_-:r
247

b2B) _15g(8)
Bn

—log2 8) = - ~Liy(-23) -y ~Li1(=15) +

; Liy (=4} [ = Ty ()
N =2 Lin D)+ =B Lir(-1) + LR === . Ly (-7) - ——
1 \8/ o
—:|.+{:|_+—1P":r 1_[§}.-JT
7 =

Adding (75), we obtain:

(2.772204418324877327 + 2.230772909177531) + sqrt((1+5)*In2) +
sqrt((((((In7/(8P1))-In8)))/((((2)*(1/Pi*8))-1))))) - sqrt(In(2*8))
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Input interpretation:

(2.772204418324877327 + 2.23077290917753 i) +

1
LT _ 15g(8)

vl +5}lﬂg[2} +‘1 SEJTI-:r—Sl —'\;'].DE,'[E a8)

logix is the natural logarithm

iizthe imaginary unit

Result:

3.14642017634710... +
2.8B7378385628371... 4

Polar coordinates:
r=4.26129677614751 (radius A =42 4060423840428° (anuole

)

4.26129677614751

Alternative representations:
(2.7722044183248773270000 + 2.230772909177530000 i) +

y (1 +5)logi2) +

2.7722044183248773270000 + 2,230772909177530000: +

]Dg‘ﬂ?:‘ o ].Dg[a}

|
81 7 Jlog2 8 =
‘q ES_III' -1

~log@) log, (8) + 2E@L5a(?

8

V 6log@ loga(2) ~ log@ loga(16) +y o
—_ + P

(2.7722044183248773270000 + 2.230772909177530000 5 + v (1 + 51 log(2) +

logi?) _ 103[8}
———— -+ log(2 8) =2.7722044183248773270000 +
N o8y
-log,iB) + ]Dg'q J
2.230772909177530000 ; +\f 6 log,(2) —\,{ log,(16) +‘1 =
-1 4+2%7

(2.7722044183248773270000 + 2.230772900177530000 1) +
loglT) A lng[s}

|
| [1+5}10g[2} +._q| SJTES-JT—]_ — 103’[2 8 =

2.7722044183248773270000 + 2. 23D??29D91??53DDDD: e
Liy (-6)

8

Ligi= 7)<
iR ) s b L ey fl—
B PR Ll
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Series representations:
(2.7722044183248773270000 + 2.230772909177530000 i) +

log(7) _ lo
g(8)
y log(2 - 8) =

B
Y (1 +5)log2) + ‘1 —28_-'
2.7722044183248773270000 + 2.230772000177530000 ¢ +

.-T_l B

log(?) lcg[ﬂ}

&
w (1
Z 2] [—l+|510g[2}}_k*\;'—1+510g[2}...[_1_,_33—]
kﬂj[k -1+ 256

— (-1 +log(16n™* v -1 + log(16)

WETY:- logi8)

!—1+

\ _1+3 256

(2.7722044183248773270000 + 2.230772000177530000 ) +
log{7) _ lo
g(8)
Y (1 +5)logi2) +\4 STS— y logi2 8) =
2 )
2.7722044183248773270000 + 2,.230772909177530000 § +

.Ir_l a
Z [2 ][—1+610g[2}}'k1,' -1 +61og(2) +[2] I | R i

ko |\ K k _ 144 256
loEl7) .. log(8)

1
) e | S _[2 ][-1+1c:g[1l5}}'k*u' -1 +log(16)
_1+3 256 k

e

(2.7722044183248773270000 + 2.230772909177530000 £) +

]Dg‘ﬂ?:‘ o ].Dg[a}
v log(2 8) =

8 _
y (1 +5)logi2) +1'II —28_-':r o
277220441 83248773270000 + 2.230772909177530000 § +
]DE':?:' _ lﬂg[a}

b 1 1
Z [2 ][—1+610g[2}}'k1,' -1 +61og(2) +[2 ][_1+8ﬂ—

ro|\k k -1 429"

ke

| logi7)

w"“w

- logi8)

1
—[ 2 ] -1+ lag[lﬁ}}_k v -1 +log(l6)
k
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Integral representations:
(2.7722044183248773270000 + 2.230772909177530000 i) +

L™ _log(8)

Vl+5)logd) +4] 25— 4 log2=8) =
L BT

2.230772909177530000|1.242710276299244304 + 1.000000000000000000 £ +

I
0.4482751228894441077 ||

1 JT[ 7 l]d
\1_1+ﬂ||'25|5 1 1—?t+8nt

L -,

| 21
D.4482?512288944410??\f I5J Edt -
1
161
D.MEE?SIEEEEQMID??”I f Edt]
W]

(2.7722044183248773270000 + 2.230772009177530000 6 +

t +

[ 250 _jog@y
V(1+5)1og(2) +4] 22— —log(2x8) =
Vo8

2.230772909177530000|1.242710276299244304 + 1.000000000000000000 i +

[ 3 Aoy [(-sPT(l+s)
0.4482751228894441077 | —J —_— s

"ﬂ A S Ay r(l-s)

[‘-'ﬂmr 15 I'(-s¥° I(1 + 5)

ds +

mA

[
0.4482751228894441077 ’
‘H — Aoty Il -s)

0.4482751228894441077

|
[ 1 f_-aw 27 21 (P - 2 B ) T(=s) T+ 5)

T
‘q -1+ 2% JAwsy ™ AT(l-35)

d s

From (74) and (76), we obtain:

sqrt((1+4)In2) + sqrt(((((((In5/(8P1))+In8)))/(1-((((1+7)/(2+7))N(1/Pi * 8)))))) +
sqrt(In(2*8)) + sqrt((1+5)*In2) + sqrt(((((((In8/(8P1))+In8)))/(1-2)*-(1/P1 * §)))) +
sqrt(In(2*8))
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Input:

2L log(8)

vl+hlog@) + | 22— +v log(2+8) +

1- [E}l_-':r g
247

logi® , log(8)

x4 +log(2x8)

’H (1 - 2}—':1,-',1 2)

y(1+5 logi2) +

log(x) is the natural logarithm

Exact result:

logi5) 4 103’[8}

f
V5log2) +y 6log2) + | 22— . ’[—1}8"'” [10g[8}+
WO

Q

log(B
g }J+2 log(16)
aT

Decimal approximation:

11.0684125818775277846018741841717350584926137671814592550... +
1.11282908370628276571715284055639164666075895853101443021...

Alternate forms:

I
&/
é 2[4+\E+\E] log2) +‘J 3i-1""(1 +8mlogi2) 7 ‘24;r10g[2}+10g[5}

i \ 20

24 rlogi2) + log(5)

\ 20-()-

Bl | =

2

f
_ 1.8
{4+'\.‘5 +\'5]'\a'1ﬂg[2]'+%43[ 1" # 8w log(@) +

1
7 4\"1510g[2} +4\"51c:g[2} -

| ;
2-1¥"(1+8mlog® 2 log(5) + &  log(8)
’ } il - ‘ i a5 + 8+ log(l6)

r - \ -
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Alternative representations:

I logis)

+logi8) 2® | log(8)
Vil+dlog2 + | 22— +\"10§[2 ) +\(([1 +5)log@) +,| —F——— +
147 \8/m i
L ) B
+

\f logi2 - 8) = \I'IS logia) log,(2) +\(( 6 logiaylog,(2) + 2\(( logia) log,(16) +

logia) log, (8) + %ﬂg"m logia) log,(8) + %ﬂg"m
T r
+
_ 1y B _[B\BIT
\ 1) 1-(Y)
lazis)
+logi8)
yil+4 103’[2} - % +y 103’[2 8) +
T
ke [2+'}'}
logig)
—== +logi®)
v (1+5)log2) + 8—3 +4 log2  8) =
(1-27™
log (8) + loE(®) log (8) + log(5)
i ‘e
\l"S log,(2) +\l"5 log,(2) +2 \"Ilng,.[lﬁ} + = iz & Ar
_14-B/m gy8/m
= 1-(2)
o
log5) | log(8)
vd+dlog2) + | 22— +\((1c:g[2 B) +\([1+5}1cg[2} +
(22
247
log(®) +log(8)
:T +\¢'/1CIE'[2 8) = 2'\,'{—1_.'[1[—15]' +\'II—|5 Liqj(-1y +
—Lil[—'?}— Lip (-7} _Lil[_.?._r_ Lip (=4
Yy -5 Liji-1) + _Bx _Ex
[_1}—8.'.“ 1 R [§}SII.IT
o
Result:

11.068412581877527784601874184171735058492613767181450255... +
1.11282908370628276571715284055639164666075805853101443021...

Polar coordinates:
r=11.1242143835961434422611771600434039504561826460398503541

# = 5.7412806547192396831822826428454920201510990719426740228 (angle
11.1242143
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And adding (75), we obtain:

(2.772204418324877327 +2.230772909177531) +11.12421438359614344226 +
sqrt((1+5)*In2) + sqre(((((In7/(8P1))-In8))/((((2)*(1/P*8))-1))))) - sqrt(In(2*8))

Input interpretation:
(2.772204418324877327 + 2.23077290917753 ) +

| ]DE':?:' o lﬂg[g} i
11.12421438359614344226 + 4/ (1 +51logi2) + \J E’Tll—g - 1u'l logi2 - 8)
p o |
logixy is the natural logarithm
iizthe imaginary unit
Result:
14.27064355004324 ., +
2.8737B3B56283711.. 1
Polar coordinates:
r = 14.557125446584104 (racdius), #=11.38579140208366° (angle

14.55712544658....

Alternative representations:
(2.7722044183248773270000 + 2.230772909177530000 i) +

logi(7)

- logi8)

11.124214383596143442260000 ++v (1 +5) log(2) + ‘ﬂl L S = _
g

 log(2  8) = 13.8964188019210207692600 + 2.230772909177530000 +

loglailog (7

|

; ; | -logia) log,(8) +

4 6logiaylog,(2) -+ logia)log,(16) + 7‘1]| —Ax
5 P

(2.7722044183248773270000 + 2.230772909177530000 6 +

11.124214383596143442260000 +4 (1 +51logi2)y +
logi7)

| - log(8)
| S ~Vlog2 8 = 13.8964188019210207692600 +
287 _q
, _log,(8) + 227
2.230772909177530000 i ++/ 6 log,2) -4/ log,(16) 8 L
1420
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(2.7722044183248773270000 + 2.230772909177530000 5 +
11.124214383596143442260000 ++ (1 +5)logi2) +

2™ _log(8)
B

\ W -4 logi2 8) = 13.8964188019210207692600 +

Li]_ (-6}

8

( LER -
2.230772909177530000i — v —Li1(~15) ++ -6 Liz(-1} + -
-1+ 2%

Series representations:
(2.7722044183248773270000 + 2.230772909177530000 ) +
LM _log(8)

11.124214383596143442260000 ++ (1 +5)logi2) +\/ S"— -

b gl |
+ log(2  8) = 13.8964188019210207692600 +2.230772909177530000 +

o0 1 logi7?) —IDE[E} —k
Z[z ] [—1+610g[2}rk1.,' -1+6log(2) +[_1+8n—]

1okk ~1+4 256
LE® _15g(8)
-1+ — (-1 +log(16n™* v -1 + log(16)
| m
\ _1+% 256
(2.7722044183248773270000 + 2.230772909177530000 i) +
g, log(8)
11.124214383596143442260000 + 4 (1 + 5) log(2) +\/ S -
g

y logi2  8) = 13.8964188019210207692600 + 2.230772909177530000 ¢ +

- 1 L _1og8) 7~
Z [ ][—1+l510g[2}}'k1,'—1+l510g[2}+[2][_1+9"—]
e L ~1+4 256

= 1 = =
Ry BE S _[2 ][_1+10g[15}}_k -1 +logi(l6)
k

-1+ 256

1
2
k
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(2.7722044183248773270000 + 2.230772909177530000 £ +

L™ _log(8)
11.124214383596143442260000 ++ (1 +5)logi2) +J S”S— -
28T -1

y logi2 8) = 13.8964188019210207692600 + 2.230772909177530000 +

@ 1 1
}__: [ ][-1+'5lﬂg[2}}_km'—1+I510g[2}+[2][—1+ L
k

2 i
iollk ~1 4280

(' L2 _Jogg) (1 3
14837 " _[2][—1+1ng[1l5}} -1 +log(16)
k

N 1428

Integral representations:

(2.7722044183248773270000 + 2,.230772909177530000 i) +
11.124214383596143442260000 +

L]
LM _1pg(8)
v (1+5)1log(2) 2! A _log2x8) =
1

28;‘:1 i

2.230772909177530000 [6.229418846 15432724 +1.000000000000000000 £ +

I
0.4482751228894441077 J

Yo

21
U.4482?51228894441D??\/EJ E'“ -
1

161
0.4482?512288944410??41 Edt]
1

(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 +
log(7)

-log(8)
v (1+5)log2) | 3"281—1 ~ylog2 8 =

1 7 7 1
J(l 7t 8 tJ"f“
1+4 256 1 "7 T

2.230772909177530000 |6.22941884615432724 + 1.000000000000000000  +

3 [Aw [—5F T(1+5)
—J o i M o M

J
0.448275122889444 1077 f
\‘}T.'H —A ooty Il -s)

5 +

|
1 pAwsy 157 T-sP Il +5)
0.4482751228894441077 J d
\‘ 2mA —A oy Il - sy
0.4482751228894441077
Aoty T~ w2175 (7 — 23 3 A T8 [(1 4 5) -

1
\I _l+28-"” J—_‘Hmﬂ )TZH Il -s)

5

for -1 0
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We have also that, from (69):

[(((sqrt((1+1)In3)+sqrt(In(8*3)))))) + sqrt((((((In5/(8P1))-In&)))/((((1+1/7)*(1/Pi * 8)
-]

Input:

' lozis)
(VA+1log3) +V log® -3 |+ | 22

N2

- log(8)

logix is the natural logarithm

Exact result:

| logi8) — 2=
4y 2 103’[3} +!\1_ [SSI—SH +4 103’[24]‘
| ghsim 1
7)

Decimal approximation:

3.26501349499136690230096819849041165715613057648330642138... +
2.23077290917753494447634725169123753364656631880677142960...

Polar coordinates:
r=3.05432 radius
3.95432

8 ~ 34.3423° (angle

3

Alternate forms:

1 28 rlogi8) - logi5n L
5 44 2log(3) +i < = +44/ log(24)

@0

: - 1 | 24xlog2) -log5)
v 2log3) +v 3log@) +log3) + =i | —— glé) - b8

\ 2 -1

f r
i f %‘m”g"‘“ ~2iVZ [wJ 2log(3) + 3 log(2)+ 105[31]
y (GF)s

242
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Alternative representations:

logis)

' -log(B8)

[‘u'l[l+1}1c|g[3} +\'|Ilc|g[8 3}]+ :Sﬂ—. £
| 1+_1'8_|:r_1
\(1+7)

| ~logia) log, (8) + 2220

'\i' —l+[1+—;

B

wleag[mlagﬂtm + w,f' logia) log,(24) + R

bgB) _1og(8)

Vl+Dlogd +Vlogs 3|+ [ 22— -
[ ] \ [1+_;}S_-:r_1

: log,(5
~log,(8) + %“

V21og,(3) ++/ log,(24) + i

‘1‘ —1+[1+ —;}Sm

logis)

- - log(8)
[w." (1+1logid +\'|Il|:|g[8 3}]+ ||

V(2

l Liy(=7) - Lip(—4)

4'—1_.'11[—23} +~J'—2 Lipi-2) + in

\i -1 +{l+ %}S;n

In conclusion, adding (69) to the previous expression, we obtain:

3.95432+(2.772204418324877327 +2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((In7/(8Pi))-

8)))/((((2)*(1/Pi*8))-1))))) - sqrt(In(2*8))

Input interpretation:
3.95432 +(2.772204418324877327 + 2.23077290917753 i) +

logi7)
| 2270 _log(8)
11.12421438359614344226 + v (1 +5)log(2) + ‘Hl STIT — v log(2 < 8)
Pl kbt |

log(x) is the natural logarithm

iizthe imaginary unit

Result:

18.22496... +
2.873784.. 1
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Polar coordinates:
r = 18.4501 radius # = 8.96084" ancle

L]

18.4501 Final result

Alternative representations:
3.95432 +(2.7722044183248773270000 + 2.230772909177530000 i) +

PET logi8)

11.124214383596143442260000 ++/ (1 +5) logi2) +\j S"S—
25T 1

y logi2 B8) = 17.8507 +2.230772909177530000: +

| o gl ) o ]
’ _lﬂg[ﬂ}lcgﬂ[8}+ M
B
\K b logiaylog,(2) —sf logia) log,(16) +"1I

T

St g e

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

logi7)

== _logi8)
11.124214383596143442260000 ++/ (1 + 5) log(2) +\j SHT
Ll |
y log(2 8) = 17.8507 +2.23D??29D91??530C|DC|: -
-log,(8)+ —— loEe(™
\Ir 6 log,.(2) —wf log,(16) +,,1| g

3.95432 +(2.7722044183248773270000 + 2,230772909177530000 ) +

L@ _Jog(8)
11.124214383596143442260000 ++/ (1 +5) log(2) +\j 8”231—1
y logi2  8) = 17.8507 +2.230??29091??530CIDCI: -
Lll[ 7) - Lip (-6)
\'II—L'l1[—15} +\'II—I5 Lipj=1y + ( E— .
-1 4287
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Series representations:
3.95432 +(2.7722044183248773270000 + 2.230772909177530000 i) +
PET logi8)
11.124214383596143442260000 + 4/ (1 +5) log(2) +\j e
2hr_1
v log(2 - 8) = 17.8507 +2.230772909177530000 +

o (1
Z[z] [—1+ﬁlag[2}}"kv—l+ﬁlng[2}+[—1+ LS

k= k ~1+v 256
‘ log(?) _ lcg[ﬂ}

S, TR L B i, N -, (19 lag[lﬁ}}_k y -1 +log(l6)

\ _14+% 256

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 ) +

L™ _log(8)
11.124214383596143442260000 ++/ (1 +5) log(2) +\j S"S—
2,
y logi2 8) =17.8507 +2.230772909177530000: +
8

|

1
2
ko |\ K

1
][—1+l510g[2}}_k‘u' -1+61log(2) +[2 ][—1+

k

_1+74 256
L1 G log(8)

1 = =
N P | S _[2 ][—1+1|::g[1ﬁ\\]‘_"c -1 +log(16)
~1+% 256 k

3.05432 +(2.7722044183248773270000 + 2.230772900177530000 i) +
LT _1og(8)
11.124214383596143442260000 ++/ (1 + 5) log(2) +J SHT
25T 1
y logi2 8) = 17.8507 +2.230772909177530000: +

@ 1
Z [ ][—1+610g[2}}"k*\.‘—1+l5lng[2}+[z][_1+
k

2
ko |\ K

1 beM _og(8) |~

=Yg BT

’l logi7)
1487 0000
\ _1 428"

- logi8)

1
—[ 2 ] -1+ lug[lﬁ}}_k v -1+ log(l6)
k
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Integral representations:

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 i) +
11.124214383596 143442260000 +
logi7)

— | == -log®
V(1 +5)log@) +4] 22— —+/log2x8) =
‘q ESIJT_
| 1 v 7 1
2.23077 [8.00204 +i+0.448275 | j [ + ].—Jt +
‘q|-1+m W1 -7t 8t

2] 16 1
D.4—482?5,,|I B [ E dt - D.4—482?5\/ f E dt]
W1 w1

3.95432 +(2.7722044183248773270000 + 2,230772909177530000 1) +
11.124214383596143442260000 +

Ll
L2 _og(8)

===
v (1+5)log(2) + ‘ql A \log(2 x8) =
1

28,!.-1’

[ 83 pAxsaT(-sPI(l+s)
223077 [B.00204 +:i+ 0448275 | — —_—— 5 -
"-J e —A ca+y Irl-s)

|
[ 1 Ay 1575 T(-57 (1 +5)

0.448275 | f

"q 2xA .

|

[ 1 fﬂw 28 e Q175 - 2T B0 =Y TH) 4 5)

ds + 0448275
— Aoy Il-s)

ds
N -1+287 Jawsy x AT -5)

From which, we obtain:

[3.95432+(2.772204418324877327 + 2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((((In7/(8Pi))-
In8)))/(((2) (1/Pi*8))-1))))) - sqrt(In(2*8))]-golden ratio
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Input interpretation:

3.95432 +(2.7722044 18324877327 + 2.23077290917753 ) +

11.12421438359614344226 + 4 (1 + 51 logi2) +

log(x) is the natural logarithm

iizthe imaginary unit

logi7)
| 27) _1og(8)
|E'”1f -+ log(2 = 8) [-¢
(T
Result:
16.60693... +
2873784 i

Polar coordinates:
r = 16853? " ; f= 981?65': "

# iz the golden ratio

16.8537 result very near to the mass of the hypothetical light particle, the boson my

=16.84 MeV

Alternative representations:

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 ++/ (1 +51logi2) +
| 1

be® _1og(8)
Bn

N o8in g

-y logi2 8)|-¢=

17.8507 — ¢ + 2.230772909177530000 i + +/ 6 logia) log,(2) -

logiailog, (7

8

|
( -logia)log,i8) +

af logia) log,(16) +"|J .
~1+2%7
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3.95432 +(2.7722044183248773270000 + 2,230772909177530000 i +

11.124214383596143442260000 ++/ (1 + 51 log(2) +
logi7)
-+ logi2 B) [-¢=

17.8507 — ¢ +2.230772909177530000 i + +/ 6 log,(2) -

y log.(16) +

-logi8)
N og8in g

“log,(8) + 220

=1 2%

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 £) +

11.124214383596143442260000 ++ (1 +51logi2) +
logi7)
-+ log(2 B) [-¢=

17.8507 — ¢ +2.230772909177530000: - 4 —-Liy(-15) +

-log(8)

| P

| i
-6 Li-1 _|_,“4 Tﬂj”
14 v

Series representations:

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 £ +

11.124214383596143442260000 + (1 +5) log(2) +
b2 _log8)
g _Jlog2 8 |-¢=

| P

17.8507 — ¢+ 2.230772900177530000 ¢ +

o

1
Z[Z ] (-1+6log2)™ v -1 +61log(2) +[_1+

log(?) &
= lag[ﬁ}]
k=0 k

~1+4 256
lagln) log(8)
I, i L L M W {1 lng[lﬁ}}_k y -1 +logi(l6)

\ _1+% 256
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3.95432 +(2.7722044183248773270000 + 2.230772909177530000 & +

11.124214383596143442260000 ++ (1 + 5)log(2) +
log(7)
-4 log(2 B)|[-¢=

17.8507 — ¢+ 2.230772909177530000 1 +

- logi(8)
N o28m g

w |f1 1 ]':'i?’—ln::g[m_"C
Z [2][—1+510g[2}}'k1,'—1+I510g[2} +[2][—1+—
ko [\ K k ~1+% 256
2™ _log8) (1
B [P - SR —[2][—1+lng[16}}"k*¢'—1+1c:g[16}
-1+ 256 k

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 & +

11.124214383596143442260000 ++ (1 +5)logi2) +

log(7)

- logi8) ‘J,i
———— -y log(2 8) |-¢=
"‘4 28.'" i 1
178507 — ¢+ 2.230772909177530000 § +
=13 L 2™ _Jogig) \*
)_‘ [2 ][—1+I510g[2}}'k1,' -1+6log2) +[2 ] B P SR
ko |\ k k o [ L

logi7) _
/_1 . e logi8)

1
—[ 2 ][—1 +10g[15}}"“ Yy -1 +log(l6)
k

\ _1 428
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Integral representations:

3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 ++/ (1 +5)log(2) +

logi7)

- log(B) -
‘II;S'*T—_]_ —1."10g[2 81| -¢=

|' 1 7, 7 1
|-17.8507 +4-2.23077 i [ [ ].-,:t "
1

| S _FE
\4—1+T256 l?t Efl't
|I 121 |. -16]_
45(—dt+\fj g
J1 ot 1t

3.95432 +(2.7722044183248773270000 + 2.230772000177530000 1) +

11.124214383596143442260000 + v (1 + 5)log(2) +
lagi7)
- =

LET) _ Jo0(8)
“I] 8;8-11—1 —ﬁlag[z 8}

A JoAsy ril-s)

e

[ 3 p;rAwy[(-5)P (1 +35)
-|-17.8507 +-2.23077i- | = j o Bk s} SR
g

I
[ 1 j‘.'ﬂwﬂ' 157 I(-s)? I(l + 5)

ds —

‘Hl E.FT._'H ~A caty r[l—.ﬁll'

|
1 (.ﬂw 208 2 (PR 3N L RS T T 4 5)

| .
Y -1+28" JAwy 2 ATl -s)

das

and we obtain also:

7%[3.95432-+(2.772204418324877327 + 2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((In7/(8Pi))-
In8)))/(((2) (1/Pi*8))-1))))) - sqrt(In(2*8))]-Pi-1/golden ratio

where 7 is a Lucas number
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Input interpretation:

T13.95432 +(2.772204418324877327 + 2.23077290917753 0 +

11.12421438359614344226 ++ (1 +5) log(2) +

| logl?) _ IDg[E} 1
| 81 _\log2+8) |-x--
Y Gimey ¢
logixy is the natural logarithm
iizthe imaginary unit
# iz the golden ratio
Result:
123.8151... +
20.11649..

Polar coordinates:
r=125.439 (radius , 8= 0.22832° "

125.439 result very near to the dilaton mass calculated as a type of Higgs boson:
125 GeV for T =0 and to the Higgs boson mass 125.18 GeV

Alternative representations:

713.95432 +(2.7722044183248773270000 + 2.230772909177530000 £ +

11.124214383596143442260000 + v (1 + 51 log(2) +

1
Le@ _10g(8)

g
\ @i

-+ log2 8) |-r-

|

1
i 17.8507 + 2.230772909177530000 i + v 6 log(a) log, (2) -

{ ~log(a) log, (8) + 22122l

w)'llng[mlugﬂ[lﬁ} + \.]l

—1 4257
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7(3.95432 +(2.7722044183248773270000 + 2,230772909177530000 5 +

11.124214383596143442260000 + v (1 + 5) log(2) +

log(7)
i —log2 8 |-n-

-logi8)

-

@

1
—T — ; +7[17.8507 +2.230772909177530000 i + 4/ 6 log,(2) -

log (T
8m

-log,(8)+

+ log,(16) + ,4

s

713.95432 +(2.7722044183248773270000 + 2.230772909177530000 5 +

11.124214383596143442260000 + v (1 + 5) log(2) +

log(7)
—\log2 8 |-x-

- log(8)

o N

g

1
- - ; +7|17.8507 +2.230772909177530000: - v -Li1(-15) +

W ’l o e e
-6 Liy(-1) +‘q TS':”
— + T
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Series representations:

7(3.95432 +(2.7722044183248773270000 + 2,230772909177530000 5 +

11.124214383596143442260000 + v (1 + 5) log(2) +

logi7)
-y log2 8) |-7-

- logi(8)

-

g

1
124,955 - ; +15.61541036424271000: -7 +

@ 1
2?[2] [-1+Elcg[2}}'k*~,.'—1+51c:g[2} +[—1+

og?) - lng[E}]_k
B

=k ~1+4 256
| bos(7) - logi8)
B e L NN _[_1+10g[15}}_k y -1 +log(l6)

\ ~1+7% 256

713.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 +5)logi2) +

lagi7)
L _\log2 8 |-n-

-log(8)

B

A @Eea
1
124.955 - - + 15.61541036424271000 - 7 +
&
be™ _1og(8)

L
o 1 1
3 ?[2 (-1+6log@n™ v -1+ 6log(2) +?[2 ][—1+ 3”—]
k ~1+4 256
logi7)

- log(8) 1 &
gl B Seeas —?[2][—1+10g[15}} vy -1 +logil6)
~1+¥% 256 k

-
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7(3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + y (1 +5) log(2) +

loglT)
L ~ylogz 8 |-x-

-log(8)

S

L i

1
124.955 - - +15.61541036424271000 ¢ — 7 +
)

@ 1 1 M—lag[ﬁ}
:)_‘?[2][—1+Elng[2}}'k1.;'—1+l510g[2}+?[2]—l+ =
’l L2 _log(8) 1 3
—1+8”—| —?[2][—1+10g[15}} Yy -1 +log(l6)
\ _14+2% k

Integral representations:

713.95432 +(2.7722044183248773270000 + 2.230772909177530000 5 +

11.124214383596143442260000 + 4 (1 +5) log(2) +

E) log(8) — 1
—— —logi2 8) |-7--=
Vo287 ¢
1
~15.6154 | -0.0640393 + 8.00204 ¢ + ¢ i — 0.0640393 ¢ 7 +
o
|
0.448275 4 ’ E o+

1 J?[ 7 1 ]d
“1—1+H'IIESI5 1 l—?t+8Nt

21 16 1
G.MEE?S';:,IIESJ Edt —D.MEE?SJI?”I Edt]
1 1

78

T



713.95432 +(2.7722044183248773270000 + 2.230772000177530000 1) +

11.124214383596143442260000 ++/ (1 +5)logi2) +

| 2@ _15g8) 1
Ve ~Vles2:®) [-n- - =
987 _q ¢

1
— 15.6154 |-0.0640393 + 8.00204 ¢ + ¢ 1 — 0.0640393 ¢ +
@

|
3 * A ca+y r[—.S]l":3 il +s)
0. 448275 ¢ —J R
"q}TJH ~A oty Il -s)

[ 1 Ay 157 T(-s (1 +35)
0.448275 ¢ | j ds +0.448275 ¢

\ 2rA
|
( 1 Fw 2~ 21775 — 23 3 ) (s (L + 5)
‘q -1+ 28" J Ry e ALl -35)

—F ooty rl-s

ds

it | ]

and:

7%[3.95432-+(2.772204418324877327 + 2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((In7/(8Pi))-
In8)))/(((2) (1/Pi*8))-1))))) - sqrt(In(2*8))]-Pi+11+golden ratio*2

where 11 1s a Lucas number
Input interpretation:

713.95432 +(2.772204418324877327 + 2.23077290017753 i) +

11.12421438359614344226 ++ (1 + 5) log(2) +

1
| 2@ _1og8)
8

‘JW —ﬁlag[z 8) —II'+11+JIJ2

logixy is the natural logarithm

iizthe imaginary unit

# iz the golden ratio
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Result:

138.0512... +
20.11649.._;

Polar coordinates:
r = 1395009 radius E":E.EQDEISC .:!!j'!"

L]

139.509 result practically equal to the rest mass of Pion meson 139.57 MeV

Alternative representations:

713.95432 +(2.7722044183248773270000 + 2.230772909177530000 i) +

11.124214383596143442260000 + v (1 +5)log(2) +

|
L2l® _og®y
"‘JSHES'”—]_ —1,"10g[2 8) —?I'+11+¢2=

11-n+¢° +7|17.8507 + 2.230772909177530000 i + v 6 logia) log,(2) -

~log(a) log, (8) + “EX 1 5(?

\"Ilng[mlagﬁtlﬁ} +1,q .
—1+2%7

7(3.95432 +(2.7722044183248773270000 + 2,230772909177530000 ) +

11.124214383596143442260000 + v (1 +5) log(2) +

1
©E® _log®)
\ *";“—1 ~ylog2 8) |-wr+1l+¢° =

11 —m+¢° +7|17.8507 +2.230772909177530000 i + 4y b log(2) -

log,8) + 227

—_—
m

 log,(16) + .\

-1 4287
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713.95432 +(2.7722044183248773270000 + 2.230772900177530000 5 +

11.124214383596143442260000 + 4/ (1 +5) log(2) +

logi7)
L ~ylog2 8) |-w+1l+¢° =

-log(8)

Y e

11— +¢* +7|17.8507 + 2.230772909177530000 i —  —Li1{~15) +

Lip (-6)

8

( Liy(-7) -

4 -6 Liii-1) +

—1+2%7

Series representations:

713.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

logl7)
B

- log(®)

11.124214383596143442260000 + v (1 + 5) log(2) + \

kil |

vlog2 8) |-r+11+¢" =135.955 +¢° +15.6154 -

103#?:' _1 8 —k
8 o8l }]

~1+ 256
]ng ~log(8)
1+ 7(-1+log(l6p™ v -1 +1logil6)

-1+ 256

’T+Z [?[ 1+I51c:g[2}} 1.,.'—1+6log[2}+?[—1+
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7(3.95432 +(2.7722044183248773270000 + 2.230772909177530000 i +

11.124214383596143442260000 + v (1 + 5)log(2) +

[ log(?) _ lng[ﬁ}
"th -+ log(2 - 8) —}T+11+¢2=
290 =1

w | (1
135.955 + ¢ + 15.6154i — 7 + ) ?[ 2 ][-1 +6log2n ™ v -1 +6log(2) +

k| ‘K
d

d

log{?) _ lag[ﬂ} -k logi7) —103’[8}
8 B
1+ A 14 A

~1+4 256 -1+ 256
][—1 - 103[15}}"" v -1+log(l6)

b e
——

b |

713.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 +5)logi2) +

]Dg—‘?’—lug[ﬁ}
,_qS"T -4 log(2 - 8) _r+1l 4§ =
270 -1

135.955 + ¢° + 15.61541036424271000 —x +

1

20 1 L
z ?[2 ][—1+610g[2}}'k\.' -1+6log(2) +?[2 ][—1+
k

1051?]_10 g —*
= gl }]

217 —1 428
LM _1og(8) -
et _?[ 2 ] (-1 +log(16n ™" y -1 +log(16)
\ _1428" k
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Integral representations:

7(3.95432 +(2.7722044183248773270000 + 2,230772909177530000 ) +

11.124214383596143442260000 + v (1 +5)log(2) +

[og(® 1. o
]":—'T’—lcg[ﬁ} 2
=1 _ylog(2 8) |-w+1l+¢" =
Y g
2 |I : A :
135.955 + ¢ + 15.6154 i -7+ 7 |—J [1 =i t]‘“ *
— ke

‘q ~1+4 256

?\f j = dt —?\(jm}dt

7(3.95432 +(2.7722044183248773270000 + 2.230772909177530000 i) +

11.124214383596143442260000 + v (1 +5) log(2) +
oy f)
] :7 - logi8)

2
\ T —ylog2 B) |-m+1l+4" =

| 3 [AenT-sPI(l+s)
135.955 +¢° +15.6154i-n+7 | — [ ——— ds

"q .i"I'Jt[ A ca+y r[l—.ﬂ'

I

’ 1 pAwy 157 T—sP T(1 +5)
7 j ds +

‘\] 2xA A oty Il-s)

I
5 i, o Hooey 270V T1T7E - 298 o 38 ) T3P T(L + 5)

[ f - das

~A ooty .Fl‘z,'ﬂ I(l-s)

N -1+2%7.

(76+18)[3.95432+(2.772204418324877327 + 2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((((In7/(8Pi))-
In8)))/((2) (1/Pi*8))-1))))) - sqrt(In(2*8))]-4-golden ratio

Where 76, 18 and 4 are Lucas numbers
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Input interpretation:

(76 + 18)|3.95432 +(2.772204418324877327 + 2.23077290917753 i) +

11.12421438359614344226 + v (1 + 51 log(2) +

|
| ]':'SL'T?’ - logi8)
"JI W —"q'l 1Dg[2 By -4 -4
logixy is the natural logarithm
iizthe imaginary unit
# iz the golden ratio
Result:
1707.529.. +
270135714

Polar coordinates:
r = 1?23?5 i::-is!:'~ ; f= 398984': '

1728.76

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number

1729

Alternative representations:

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 + 5) logi2) +

1
]Dg_.?:l _ ].DE[S}
B

L

~ylog2 8 |-4-¢=

—4 - +94|17.8507 + 2.230772909177530000 i + 6 logia) log, (2) -

logla)log, (7

f
| —log(a) log,,(8) +
\{lag[mlngﬂ[lﬁl - ‘ql

8

35 (I8, L1
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(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + vy (1 + 5) log(2) +

log(T)
L -+ log(2 -8) |-4-¢=

- logi8)

L i

~4 - ¢ +94|17.8507 + 2.230772909177530000i + +/ 6 log,.(2) -

log,(7)
8m

-log,(8) +

ﬁm$um+q

=1 4 2%7

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + vy (1 + 5) log(2) +

log(T)
-y log2 - 8) |-4-4=

- log(8)

L

-4 - ¢ +94|17.8507 + 2.230772909177530000 - ¥ -Li1(-15) +

N iuﬂ—ﬂ—uném
-6 Liyj-1) +‘1 Tﬂj”
— + r
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Series representations:

(76 + 18)(3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 +5)logi2) +

Rl log(&)
. -ylog2 8 [-4-¢=1673.97 -¢+209.693:i+
"-4 ES_I.IT |
w1 log(7) - log(8) *
g & 8

Z[z ] 94(-1+6logi2n ™+ -1+6log(2) +94|-1+ 21—
k=0 Kk ~1+4 256

‘ ]ngn:?ﬁl = IDg[E}

ey 48 ~94(-1+log(16n™ v -1 + log(16)

\ _1+3 256

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + vy (1 + 5) log(2) +

log(T)
-y log2 8) [-4-¢=

- logi8)

"q 2 8/m _ 1

o 1
1673.97 —¢+ 200,693 + z 94[ 2 ][— 1+6 lag[E}}_k v -1+61log(2) +
k

k=0
1 logi?) _ lng[E} -+ logiT) lﬂg[E}
94[2]_1+8n— N
k 1+ 256 ~1+4 256

—

94[ 2 ][-1 +log(167 v -1 + log(16)

=
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(76 + 18)[3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 +5)logi2) +

Rl log(8)
Br _ -log2 - 8) |-4-¢=
\ gt
1673.97 — ¢ + 209.6926534626878200 i +
o 1 it LE® _Jog@))*
2‘ 94[2 ][—1+|51u::g[2}\v“'“‘mI -1 +6log2) +94[2 ] A
o k k G
Jl L™ _og(8) 1 "
\ -1+ S”—“ —94[2 ][—1+1ag[15n 4 =1 +log(16)
-1+2% k

Integral representations:

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 f) +

11.124214383596143442260000 + y (1 + 5) log(2) +

lagi7h
-y logi2 8) |[-4-¢=

- log(8)

"q 2 Bim _ 1

—|-1673.97 + ¢ - 209.693 i - 94 ’

()
94,/ 6 j = at +94\{j16}ﬁ]
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(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 ) +

11.124214383596143442260000 + v (1 +5)log(2) +

lagi7)

- logi8)
‘q ES_I'JT =

-y log2 8)|-4-¢=

f
3 Awk (-5 Tl +35)
|-1673.97 +6-209.693i 94 | — 8o e Al it
‘q A J_ Ay ril-s)

f
[ 1 ‘".ﬂmr el o e

94 a5 —
‘ql 2xA JoAawmy r(l-s)
|
e 1 ooy 2748 5 2175 (75 = 2345 5 35 o) T(—s5)? T(L + 5)
94 | : J ' ds
NV -1+28 Jomwsy n” AT -s5)

and:

(76+18)[3.95432+(2.772204418324877327 + 2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((In7/(8Pi))-
In8)))/(((2) (1/Pi*8))-1))))) - sqrt(In(2*8))]-4-golden ratio+47+7

Where 76, 18, 4, 47 and 7 are Lucas numbers
Input interpretation:

(76 + 18)|3.95432 +(2.772204418324877327 + 2.23077290917753 i) +

11.12421438359614344226 ++ (1 +5) log(2) +

| logi7)

YV aqums

- log(8)

—v log(2x8) [-4-¢+47+7

log(x) is the natural logarithm
iizthe imaginary unit

# iz the golden ratio

Result:

1761.529... +
270.1357... ¢
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Polar coordinates:
r=1782.12 radius # = 8.71856° (ancle

L]

1782.12 result in the range of the hypothetical mass of Gluino (gluino = 1785.16
GeV).

Alternative representations:

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 + 5) logi2) +

Ll
REM _og(8)
B

L

~ylog2 8) |-4-p+47+7 =

50 - ¢ + 94| 17.8507 + 2.230772909177530000 i + v 6 logia) log,(2) -

logla)log, (7

\f -logia) log, (8) + -
logia) log,(16) + \ , =
35 (I8, L1

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 + 5) logi2) +

1
et log(8)
A _\log@x8) |-4-¢+47+7 =

"q 2 8/m _ 1

50 - ¢+94|17.8507 + 2.230772909177530000 ¢ + 4/ 6 log,(2) -

log,(7)
8m

2] g 2NE

R -log,(8) +

Y log,(16) + \‘
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(76 + 18)(3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 +5)logi2) +

log(7)
Br ~Vlog2 8) |-4-¢+47+7=

- log(8)

\ ag¥a

50 -¢+94|17.8507 + 2.230772909177530000 ¢ — 4 -Liy(-15) +

| . 11 =
(LLI[—?}—L”S' 2
3 -6 Lii-1) _|_,‘1J Tg.ﬂ”
—1 +20

Series representations:

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 ) +

log(7) lﬂg[a}
lL12421438359614344226DDDD-rﬁ[l-rSHcgm}-+H S"Sw
28im _q
ylog(2 B) |-4-¢+47+7 =1727.97 — ¢ +209.693 i +
= (3 lEin.. log(8) B
2;[2] 94(-1+6log2)™* v -1+6log(2) +94[-1+ B —
k=o' K _1+3% 256
logi?) lng[E}
1+ -8 94(-1+log(l6n v -1 + log(16)
\ _1+3 256
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(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + y (1 + 5) log(2) +

e
logi7Th 103’[8}
A \Jlog2x8) |-4-¢+47+7 =

L

0 1
1727.97 — ¢ +209.693 1 + Z 94[ 2 (=146 105[2}}* Y -1+6log2) +

k=0 k

AT o s L M LS

~1+4 256 ~1+4 256
][—1 - lug’[lﬁ}}_k vy -1+log(l6)

log(?) _ lag[ﬂ} & log(7) —lug[E}
] -1+ B 8

ol X

o4

ol X

|

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 +

mEARE
L2 _10g(8)
v (1+5)log(2) *4 A N2 xB) |-

28.'”

4-¢+47+7=1727.97 - ¢ + 209.6926534626878200 +

® 1 1 1ng-:?3_10g[8} &
94[2 ][—1+510g[2n"‘1,' -1 +6log2) +94[z] B o
k| \k k X (P L
i b2 _1og(8) 1 5
\ 2 -94[2][-1+1cm15n V -1 +log(16)
-1+2% k
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Integral representations:

(76 + 18)(3.95432 +(2.7722044183248773270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 +5)logi2) +

log(7)
-ylog(2 8 [-4-¢+47+7 =

- log(8)

\ ag¥a

7 1
—[—1?2?.9? +¢—209.693i-94 ]Jf =

1 7
‘q—1+m1256 Jl [1—?t+a

21 16 1
%Jﬁj Zdt +94. —Jﬁ
1t 1t

(76 + 18)|3.95432 +(2.7722044183248773270000 + 2.230772909177530000 ) +

11.124214383596143442260000 ++ (1 + 51 log(2) +

lagi7)
-y logi2 B)|-4-¢+47+7 =

- log(8)

"q 2 Bim _ 1

Aoty [(=5)F° T(1 + 5)
— ds5 +

|
3
—-[-1727.97 +¢ - 209.693 i - 94 f — J
"q a A JoAwsy [(1-s)

1 rAwsy 157 T(=5° (1 +5)
04 J ds -
‘q E.FT.,'H ~ Aty r[l—.ﬁ}
|
1 ooy 2748 5 2175 (75 = 2345 5 35 o) T(—s5)? T(L + 5)
94 ———f—J ' ot
N -1+2% sy ATl -s5)

for -1 <y <0
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1/10752(((([3.95432+(2.772204418324877327 + 2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((((In7/(8Pi))-
In8)))/ () (1/Pi*8))-1))))) - sqrt(In(2*8))]*1/26 - 13/10°3))))

where 13 is a Fibonacci number
Input interpretation:

3.95432 +(2.772204418324877327 + 2.23077290917753 1) +

105
11.12421438359614344226 +4 (1 +5)log(2) +
e
|I ilng[m — log(2 m]’“u;z&-ﬁl
N gums_g 10°
logix) is the natural logarithm
i is the imaginary unit
Result:

1.1056248... x 1072 +
6.7288757... x 107%° ;

Polar coordinates:
r=1.10565x10"? (radius), = 0.3487"

1.10565%10™

result practically equal to the value of Cosmological Constant 1.1056*107% m™
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Alternative representations:

1
ﬁ 3.95432 +(2.77220441832487 73270000 + 2.230772909177530000 1) +

11.124214383596143442260000 + v (1 + 5) log(2) +

]Dg-:'?;l 13
—+log2 8) |~ (1/26)- — |=
10°

- logi8)
\ 23

1 13 e
—— |- — +|17.8507 +2.230772909177530000: ++/ 6 log.(2) -
10°¢ | 10°

I logi7
—].Dgg'[a}'i' Dgtl: J

\ log, (16} + BT~ 1) 26)

—1+2%F

1
ﬁ 3.95432 +(2.7722044183248773270000 + 2.230772900177530000 & +

11.124214383596143442260000 + v (1 +5)logi2) +

]Dg-:'?:l
13
in -y log2 8 [1;2'5.}-H o

- log(8)
"IJ 28!;‘[ oo
1 13

i e 17.8507 + 2.230772909177530000 i + 6 log(a) log, (2) -

loglailog (T
L ~¢11.26)

f
' -logla}log,i8) +
s,(lcg[mlcgﬂ[lﬁ} + \

1420
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1
ﬁ 3.95432 +(2.7722044183248773270000 + 2.230772900177530000 & +

11.124214383596143442260000 + v (1 +5)logi2) +

]Dg-:'?:l
13
in -y log2 8 [1;2'5.}-H o

- log(8)
"IJ 28!;‘[ oo
1 13

10? = E +|17.8507 +2.230772909177530000: -y -Li;(-15) +

[z s
I_..ll[—?}—Llll: &)

v -6 Liy(-1) + \/ —,8” ™17 26)

& gL

Series representations:

1
ﬁ 3.95432 +(2.7722044183248773270000 + 2.230772900177530000 £ +

11.124214383596143442260000 + v (1 +5)log(2) +

]Dg-:'?:l 13
-y log2 8 |Ti(1/26)- — | =
102

13
~ 10000000 000 000000 000 000 000 000 000 000 000 000 000 000 000 000 D00 N

- log(8)
"q ESIH i

L]

1
17.8507 +2.230772909177530000 + [ 2 ][—1 +6log2n™ v -1 +61log(2) +
k

k=0

LE™ _1og(8)

1 b2 _1og(8)
[2]_l+sﬂ— |_1+”—_
k _1+5256 ) N _1+% 256
2 o /
[2][—1+lﬂg[15}}_k -1+log(16) || ™1/ 26}/
k

/

10000000 000000000000000000000 000000000000000000000000
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1
ﬁ 3.95432 +(2.7722044183248773270000 + 2.230772900177530000 £ +

11.124214383596143442260000 + v (1 +5)log(2) +

log(?) _ lo

. ~log(®) 13

A \log@x8) | (1/26)- — |=
1

Vo ogem 10°

13
~ 10000000 000 000000 000 000 000 000 000 000 000 000 000 000 000 000 D00 N

w |1
17.8507 +2.230772909177530000 + | [ 2 ][—1 +6logi2n™ v -1 +61log@) +
k

|

][ 8

ot PR . il

. /
[2 ][—1+ 1:::g[1fj\~]~“‘c vy -1+logil6) || ™ (1/26)|/
ke

lagi7)

- log(8)

1

b |

. =L r————
_1 4287 \ _14+287
/

10000000 000000000000000000000000000000000000 000000000
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1
ﬁ 3.95432 +(2.7722044183248773270000 + 2.230772909177530000 i) +

11.124214383506143442260000 + v (1 + 5) log(2) +
logi?) _ o

[ Tor g(8) 13
A JlogZxB) |"1/26)- — |=

N o8 10°

13
~ 10000000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000

17.8507 + 2.230772909177530000f +

{

i (-1)° (-1 + 6 log@)™ [-i}k v -1+6log(2)
+
k!

14V 256 2 k‘q 14258
k! %
(1M -1+ log16p™* (-1} v -1+ log(16) x
r ~(1/26) /

10000000 000000000000000000000000000000000000 000000000
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Integral representations:

1
F 3.95432 +(2.7722044183248773270000 + 2.230772909177530000 i) +

11.124214383596143442260000 + v (1 + 5) log(2) +

logi7) lo

. " log® 13

—SI——— —logi2 8) |"(1/26)- — |=
N g8y 10

[—13 + 1000 [1?.85CI'? +2.230772909177530000 £ +

/ 1 “7r 7 1
N Jat +
~1+v 256 1-7t  Bnt

J J JJM%J%AummF

10000000000000000000000000000000000000000000000000000000

1
E 3.95432 +(2.7722044183248773270000 + 2.230772900177530000 1) +

11.124214383596143442260000 ++ (1 +5)log(2) +

logi7)
v log2 - 8) | ™ (1/26) L
107 |

- log(8)

"IJ ) Bim _ 1

-13+1000|17.8507 +2.230772009177530000: +

’ 3 f.-amrr[—s}z r(l+s)
'!qfrﬁ[

I
’ 1 J‘.'ﬂwﬂf 15 Fessy I(1+5)

“J 2xA

ds —
—A a4y Il -s)

ds +
-A co+y ril-s)

|
’ 1 Jﬂmﬁ442rﬂw-f“3uﬂpﬁru”}

NV -1+2%" JAwsy AT -s5)

i /
(1/26) /

10000000000 000000000000000000000000000000000000 000000000

for -1 0
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Multiplying by 24, we obtain:

24%[3.95432+(2.772204418324877327 + 2.230772909177531)
+11.12421438359614344226 + sqrt((1+5)*In2) + sqrt(((((In7/(8Pi))-
In8)))/(((2) (1/Pi*8))-1))))) - sqrt(In(2*8))]+29-4-golden ratio

where 29 and 4 are Lucas numbers

Input interpretation:

2413.95432 +(2.7722044 18324877327 + 2.23077200017753 1) +

11.12421438359614344226 ++4/ (1 +5)1log(2) +

| L2 _15g(8)
"I]l W —*q'l 10g[2 8y |+29-4-¢
logixy is the natural logarithm
iizthe imaginary unit
# iz the golden ratio
Result:
460.7811... +
68.97081... ¢

Polar coordinates:
r = 465.914 (radius), 6 =8.51297° (an;

465.914

result practically equal to Holographic Dark Energy model, where

Xipg = 465.912.
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Alternative representations:

2413.95432 +(2.7722044183248773270000 + 2.230772909177530000 ) +

11.124214383596143442260000 + v (1 +5)logi2) +

logi7)
-y logi2 B) [+20-4-¢=

-log(8)

N g%

25 -9+ 24117.8507 +2,230772909177530000 i + s‘l'l 6 logia) log,(2) -

logliailog, (T

8

/ -logia) log, (8) +

\flng[ﬂ}lagﬁ[lﬁ} +,_q -
~1+2%7

24 3.95432 +(2.7722044183248773270000 + 2.2307729009177530000 1) +

11.124214383596143442260000 + v (1 +5) log(2) +

log(7)
-4 logi2 B) [+20-4-¢=

-logi8)

25 - ¢ +24|17.8507 + 2.230772909177530000 + 4/ 6 log,(2) -

—lcgp[E} ]DE:#?'.

 log.(16) +

-1+2&”
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2413.95432 +(2.7722044183248773270000 + 2.230772909177530000 ) +

11.124214383596143442260000 + v (1 +5)logi2) +

logi7)
L ~ylog(2 8) |+29-4-¢ =

-log(8)

N g%

25 -¢+24|17.8507 + 2.230772909177530000: -  -Liyi-15) +

| . 1 =l
(ult—?}—L'lg' 2
W -6 Li(-1) _,_‘q T&H”
.,

Series representations:

2413.95432 +(2.7722044183248773270000 + 2.230772909177530000 0 +

11.124214383596143442260000 + y (1 + 5) log(2) +

lagi7) la
—— - logi8)
\ S”T ~VIlog2 8) |+29-4-¢=453.418 - +53.5385 +
L |
w1 og(® _ log(8) %
[2 ] 24[—l+5lag[2}}*m‘ ~1+6log?) +24|-1+ 22—
ko \ k ~1+4 256
‘ loz(7). . log(8)
EE ~24(-1+log(16) ™ v/ -1 + log(16)
\ _1+ 256
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24 3.95432 +(2.7722044183248773270000 + 2.2307729009177530000 1) +

11.124214383596143442260000 + v (1 + 5) log(2) +

logi?) _ 103’[8}
\ S”T ~+log(2 -8) |+29-4—¢ =
Lt |

0 1
453418 - $+53.53855 + Z 24[ 2 |i-1+6 lng[E}}'k v -1+6log2) +

k=0 k
1 log(?) _ lag[S} -~k logi7) —log[E}
24[2]_1_,_3”— S R e L
k ~1+% 256 ~1+% 256

1
24[ 2 ][— 1+log(16n™ v -1 + log(16)
k

24 13.95432 +(2.7722044183248773270000 + 2.230772909177530000 6 +

11.124214383596143442260000 +

ity
L2 _ 10g(8)
v (1 +5) log(2) +y STS— ~vlog2 -8 |+
ghie_

29 -4 — ¢ = 453.418 - ¢ + 53.53854982026072000 ; +
- 1 1 b2 _)og(8)
5 24[2 ][—l-rleng[EH'km" -1 +6log(2) +24[z ] —1+8”—8,T
k=0 k k iy P L

(l LD _1og(8) 1 &

_1 4 A= : —24[2][—1+lﬂg[15}} y -1 +log(l6)
\ 14287 k
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Integral representations:

2413.95432 +(2.7722044183248773270000 + 2.230772909177530000 ) +

11.124214383596143442260000 + v (1 +5)logi2) +

logi7)
A ~ylog(2 8) |+29-4-¢ =

- log(8)

N g%

—[—453 418 + ¢ -53.5385:1-24 (

_1+EJ (1 7t airJ -
24\{ J—Jt+24\fj at

2413.95432 +(2.7722044183248773270000 + 2.230772900177530000 1) +

11.124214383596143442260000 ++ (1 + 51 log(2) +

]ng-:'?] _ lﬂg[s}
-y logi2 B)|+29-4-¢=

"IJ 2 Bim _ 1

ds +

3 pAsy N e
—|-453.418 + ¢ - 53. 53851—24 J _
A J_ Ay [(1-s)

1 Aoty 1575 T(-5)° [(1 + 5}
24 J ds
‘q E.FT.,'H ~ Aty r[l—.ﬁ}
I
5 J 1 fﬂmr ZHE L 91 (PR L I S P T(L ¥ 5)
~14+2%8" LAy ATl -35)
Al A !

s

Now, we have that:

log(1+ax)  logp,

lor=1n) " logd T I} wesecceseiwnnia (1T0)

For: a,=1,v=3,u=8,A=5,a,

=4,p; =11 and a, =7, we obtain, developing the
following equation:
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((In(1+7)/In(1-1/5)))x = -In(11)/In(2) + O(5)

Input:
logil +7) log(11)

TR @
lng[l—g} g

Exact result:
x log(8) log(11)
it Y

) logi(2)

Ln

luzzg[‘—1

Alternate forms:
xlogi8y  logilly
05 - 5 it =

102[3} log(2)

xlogi8) 0(5)log(2) - log(11)
1Dg[§} - log(2)

0(5)(2 log(2) - log(5) (2 log(2) - log(5n log(11)
X = =

3 log(2) 3log?(2)
Alternate form assuming x>0:
3xlog(2) 5) log(11)
logi5) - 2 log(2) log(2)
Solution:
log(2 ) log(11) - 0(5) log(2))
4
= i O51eR
3log?(2)
From:
log(2 ) log(11) - 0(5) log(2))
X = = , 0B eR

3log?(2)

For O(5) = 0.5, we obtain:

(log(5/4) (log(11) - log(2) (0.5)))/(3 log2(2))

104
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Input:
lng{g}[lng[ll}—lcg[ﬂ} 0.5)

3log?(2)

logix is the natural logarithm

Result:
0.3175747...

0.3175747...

Alternative representations:
log(2) log(11) - log(2)05)  (~0.5log,(2) + log,(11))log,(2)

3
— 4
3log?(2) 3 log?(2)

IUEE } (logi11y-logi2)0.5)  logia)(-0.5 logia)log,(2) + logia) log,(11) ll::gﬂ[‘z1 }

3log?(2) N 3 (logia) log, (2)°

log[i Jdog(11)-10g(2)0.5)  (~Li1(-10)+0.5 Liy (-1 Lis(1 - 3}

3log?(2) N 3 (-Li1(-1)°

Series representations:
lng[i } (log(11) - log(2) 0.5)

3log?(2) ;
arg[i —z,:,} 1 = -1y [i —z.;.} za""
logizg) + log = +logizg) |- L P
o k=1
(11 — =) 1
[lug[z.;.} + {MJ (hag[— J + logizg }J -
2}1’ ZD

® -1)F @ -z 5F ]

(2 - 1
0.5 |log(zg) + {—arg ZD}J (10g(—}+ lag[z.;.}]— 2‘
E.FT ZD ko1 k

(—1)F (11 — =) z.;“] /
/

k=1 k
k ko
argtz—sz[ (1] J o (=1 (2 —zp) 5
— | |log| — |+ logizqy| -
2 g g B z‘ k

T i k=1

[3 [10 Zizg) +
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log{g } (log(11)-logi2)0.5)

3log?(2)
5 5
argls —X)||arg@ -x argls —X)||arg(ll-x
~||0.166667 | 1 {4 } { s }J—Ez‘?frz {4 } { = }J—
T 2 2 2
5
arg{— i arg(2 - x)
05im logix) + 0.5 ;r{—J logi(x) -
arg(ll -x
i [}T {EE—}J lug[x}] - 0.25 log®(x) -
ke
ks k -k
arg(2 — x) | — (-1) {E —x} x
D.SI?T{ J i +
T k=1
k(5 k&
arg(ll —x) | & kL {:1 —x} *
i { J +0.25 logix)
2 k
k=1
ks k & 5
w (-1) {‘—1 —x} x arg{;—x} @ 1 @ - xf x
Z K -05irm Z P -
k-1 I |
5
[ [_lk[g_xkx—k argi—- - x
0.25 IDg[I}E ; K } +im {24;1' }
@1 (11 -x0f xF LR P p g e
Z P +0.5 lug[x}z K +
k=1 k=1

2
0.25 Z Z "y -

w w (—1f1%2 {f-x}*‘l (11 — x<2 x 12

05 3 % /
k1=1k2=1 klkz IIIII
arg(2 - xj By o I .
[IJ'T{EE—}TJ+D.SIUE[X}—D.5§ } . } forx <0
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log{g } (log(11)-logi2)0.5)

3log?2)
- arg[%] —argizg) || 7 - arg[ 5] —arg(zg)
~||0.166667 | #* o = s
2 2
- arg[i] —argizg) | |7 - arg[ E] —arg(zg)
9 2 2 4z ) B
2 2
n—arg[%] - argizg) n—arg[i] - argizg)
05irx - logizg)+0.5ix .
2m 2

m- arg[ E] — argizg)
0

logizg) —i|m = logi(zg) |- 0.25 lcgz[z.;.}—
8

n—arg[i]—arg[zu} @ [_1}5:[2 _z,:,}kz.:.'k

4
0.5

im > n Z 5 -

k=1
== i k5 S 8

m arg[zﬂ] argizg) | w (-1 {; —z.:.} Zn

im -
2r ke
k=1

o [—l}k 2 g kz"“
0.25 lng[z.;.}z {4 D} LA

k=1 k

5
T — arg[a] = E.I’g'[ZD} i {—l}k [2 — 2 }k zak

05ix -
2 = k
0.25 log(zg) Z K +im 5x
k=1
LI |y N S Iy B R, e
E } LI +0.5 lag[z.;.}z ! ak %
k k
k=1 k=1

k )
o o (112 (2 g 2z 2 g T

4
0.25 Z Z S =

T a:rg[i ] - argizg)
0

e -1
ir = +0.5 log[zc.}-a.sé

k =k
—Zn) Eq

k
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Integral representations:

5
. 11 e T e E T
lng[i}[lag[ll}—log[E}D.S} GiAakELS [Jl r dt][ g 2 ; t 'ﬁ}

3log?(2) (f2 2 atff

103[3 Jilog(11) - log(2) 0.5)

JERT 45r_ .Erl
:-[[D.lﬁﬁﬁﬁ?U (o [+“ds]

3 103’2[2} —i pa4y Irl-s)
J"IN+]’ r[—.S]l2 Il +s) P J‘INH 10°F r[—.S}2 ril+s) 4 /
—i ca 4y r[l—j} —i a4y r[l—.ﬁ} .Ill

i ca+y r[—.S]l":3 Il +s)
J — s | £
—i o4y Il -s)

From which:

1(((((log(5/4) (log(11) - log(2) (0.5)))/(3 log"2(2))))))

Input:
1

1c|g|:§:|-:]ng-:11]—1c'g-:2il 0.5)

3]0521123

logix is the natural logarithm

Result:
3.148865. ..

3.148865....=m

Alternative representations:
1 1

log] i]-:]ng-:ll]—]ng-:E]D.S:l (-0.5logel2)+loge 11 loge| E]

3log?(2) 3log?i2)
1 1
log( f]ﬂngqlly-l-:-ngm.s:n logia)(-0.5 lngia)loga (2)+logia) loga(11) 1o g| 451
3log?(2) 3 logla)logi2)?
1 1
log| 45]*.103*.11.1—105-:230.53 {-Liq (~10)40.5 Liy {~ 1)Ly | 1‘45]
3log2(2) 2 {~Lip (-1)12
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Series representations:

1
103{i—]-:l.:-g-:ln—lngizm.sn -
3log2(2)
arg(2 —x) 2 arg(2 - x
- [5 [12 " lg—}J +!}T{E—}JIDE[I}+D.25 log®(x) - i
2 T
arg(2 — x) | — -1 @ -xf x™*
d JZ )
2 . k
-1 (2 —x)F x7* I | Y /
0.51 0.25
k=1
5
arg[— -Xx w (-1 { }
4
0.51o -0.5
i . - gix) Z i
k=1
arg(2 - x arg(ll —x)
[znlg—}J—Ezn{g—J—ﬂ.Slﬂg[I}—
m iy
5‘: B b [E xf x* i -1 11 -xF x* :
or X (1
" k
k=1
1
1.35{f]ﬂngqll:—lngmm.sz -
3log?i2)
T arg[il —arg(zg) i - arg[il —argizg)
2 2 0 ] ]
- s +im Og(Zn) +
2 2
2
n—arg[—}—arg[z.;,} -
-1 [2 z0 )zt
0.25 log?(z0) — i | %0 Fe-z0) g |
2
k=1
(-1 (2 - zg ) = 2 -0 220z |||
DSlog[zn}z p +0.25|>" p /
k=1 =1
5 k
n—arg[a]—arg[m} Bl DES[ 1} {- —zcu} za‘k
LT =
2 gl k
| k=1
( n—arg[i]—arg[z,:,} n—arg[E]—arg[z,:,}
3 =
im -2 -
2 2

BTG
0.5 log(zo) - 0.5 3 }
k=1

R o i (=1 (1w g
+
k - k
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1
log| i‘]ﬂng#ll)—]ng#E)D.SJ
3log2(2)

(2 )2 2

T

arg(2 —z.:.}Jz

logiz +2{
] 2 2

iy
arg(2 —ZQ}J logz argi2 —z.;.}JE
2 2

lng( ]lng[zc.}+10g2[z.;.}+2 [z.;.}+{
g

k ok

arg(2 - 5 (L iy | RS
lngz[zn}—E{—g D}Jlng(—JZ : u) %6
E.FT Fty) L k

= 1} (2 - z.;.} z,;, 2rlrg[z—z.;.]l
p e

2 logizq) Z
k=1

i o o I . i[—l}k (2 - z0) z5¥ /

k k /

k=1 =1

arg[% —z,;,}
2

J logizg)

i

1 st:rg{E - zg

lag( o

by

J +logizg) + log(zg) -

w (-1 {3 —z.;.}ﬁc za""
k

k=1
argi2 — g 1 argill -z 1
l—g D}Jlng(—]—f&{—g D}chg(—]—lag[znu
2}1’ ZD 2}1’ ZD

{arg{E—z.;.}J arg[ll—z.;.}J

logizg) - 2 { log(zo) -

155 [11 zp)F zﬂ‘k

i[l}[? zo) 25" i[

k=1

Integral representations:
1 32 at)’

log] 45]<1ag<113-1.:g¢2m.5: _% . - -
: f* 2 at | fF(-%2 + —C—)at
2ag(2) [ 1 [ _oy10T
[J”NH [i=s® [(14s) dj]z
1 -iw+y  [(1-5)
5 - - 2
]Dg{ Z:l-:]n:rg-:ll;l—]n:rg:-:E;ID.S;l [JINH 45 T{-s) Fn:1+5;| ] JINH 105 (-24105 | (-5} [(14s) ds
2 l0g2(2) -i@4y  [(1-s) —i aty r(1-s)
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16((((1/(((((og(5/4) (log(11) - 1og(2) (0.5)))/(3 10g"2(2)))))))))"2
Input:

1

1
) 1-:-gn:§'|-:l-:.gf.11:—l-:.gf.23 0.5)

3log?(2)

logixy is the natural logarithm

Result:
1.65256...

1.65256.... result that is very near to the 14th root of the following Ramanujan’s
class invariant Q = (Gsos/G101 /5)3 =1164,2696 i.e. 1,65578...

Alternative representations:

2
1 1 1 1
B 1u:-gl:%ll-:lug-:lll—lug-:z]ﬂjj 3] f.—l:l.s1-:.g.--:2_1+1-:.g¢-f.llmc-g.-n:f]
3lag?(2) 3log2(2)
2
1 1 1 1
b ]DS':E'I“]DS"IIT—]DE-'ZW 50 6 logla) (-0 51ngfﬂilngu-'21+1ng-'r1ﬂnga-'1l;lﬂngﬂ-ll§'|
Y A ah e A o e A B e A T R
3log?(2) 3 (logla) lo g {212
2
1 1 1 1
6 'Ingl:i]-:'lng-:ll]—'lng-:EJD.Sjl 6 f.—Lilf.—1El.1+D.5Li1*.—1nLi1l:1—451
3log?(2) 3 {-Lip {-1))2
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Series representations:

2
: E arg(2 -x @ C1f @2 -xf x* Y
i =13 EIN{E—}J*—]‘DE[I}_Z‘ } ) Ilu'
6 1E'El,[ ]11051111—1ngq2m 5) 2 e ke J.-'
3log?i2)
arg{g —-X ® e [E —x}k x
2|2 | i
i +log(x) Z =
k=1
arg(ll - x arg(2 — x
[EIF{E—}J+IUE[I}—D.5 EIF{E—:P + log(x) -
ik T
i[l}[z x)° X% i[l}[llx *]zr
|-|' i (§)
k=1 k=1 k
2
1 1
6 1-:-5{5]11-:.5.:11_1-1-:-5.:2;0.5_1 B
3]05‘212)
argi2 -z 1 o kg gk I
3 1UE[ZD}+{E—MJ[log(—]Hag[m}J—z : 04 /
2 g i k /
k
ﬂrg[z —ZU} 1 @ = l}k [i —z.;.} zak
2 |log(zo) + (lug(—]ﬁog[z.;.}}-z
2y 5 k

(11 - 1
[lug[z.;.} +rtrg—z.;.}J [lug[— ] + logiz, }] -0.5
2}1’ ZD

argi2 — zg) 1 & (-1 @ -z0) %"
log(z +{—J(10 {—] logiz }}—
[gm o g, )+ gm0 > P

k=1
i[hulmfﬁr

k=1
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1

1
) ]u:-gl:%llﬂcug-:ll]—]u:-g-:ZJD.SJ

3log?(2)
5 4
0F(En) — !
o 27 R = k /
2
- arg[é] —arg(zg) o (-1 [i —z.;.}k 25"
212 logizo) -
i . +log(zo) é "
n—arg{E]—ﬂrg[z.;.} F_arg[il—arg[z.;.}
2inm o +log(zg)-0.5|2ix 0 +
o 2
L s | [2 s | & ent [1l ¥ 5~
SR )_‘ } .;.} 0 Z‘ ] u} 0
k=1 k=1

I6(((1/(((((og(5/4) (log(11) - log(2) (0.5)))/(3 log"2(2)))))))"2 - 34/10"3

Input:
2
1 1 34
) 1-:.345]-:1-:-3-:11:—1-:-3-:2: 0.5) 10°
3log?(2)
logixi is the natural logarithm

Result:

1.61856...

1.61856.... result that is a very good approximation to the value of the golden ratio
1,618033988749...

Alternative representations:

2
1 1 34 34 1 1
o v i o
6 ]':'g':%]ﬂugfll]—]ugfzjﬂj] 10° 10° 6 -:—CI.S]DS:-':EH]DE:"ill]ﬂu:-glq:%]
3105312!

3]03:2123
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1 1 34
) ]og{%]ﬂogil1]—10512]0.5] 107
2lagi2)
34 1 1

— 4+
10* 6 ]Dgl:er-:—Cl.S]Dgl:rzﬂngg-:ZH]ng-:rzﬂnga-:llilﬂngalli'|

Ilogiallogi2 2

2 2
1 1 34 34 1 1
6 1-:-gﬂ§]ﬂug¢11:-1-:.g¢2m.5: ) E i E 6| -:—Li1-:—1I:l]+El.5Li1-:—1:l:ILi1|:1-%]
3log2(2) 3 (~Liy (-1)12

Series representations:

2
1 1 34
B 1ng{§]ﬂng-:11]—1.:3;2]0.5] 107
3log?(2)
17 arg(2 - x) @ 1@ —xf x !
_— +|3]z {—J log(x) — /
5|:m+[ [ TR G El; k /
2
argi—x m[l}[ x} x*
2|2in 4}T +logix) - % P
argill —x arg(2 —x
[EIH{E—]IJ+IUE[I}—D.5[21H{E—} +log(x) -
m T
i Lok [2 xF 'k] "—".[—1}’“‘[11—:;:}’“‘:4:""]Z
2 gk tor x Il
k=1 k=1 k
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1 1 34
log{i]ﬂogqln—lungmj: 10°
3lagdiz)
17 arg(2 - zo) 1 @ 1k @z gk Y /
—— +|3|logis +{—J[10 (—] logis J—
500 [ il 2r P A k /

P [E —Zn:u}k z.:,'k

1 4
(lcg(— ] +logizg }] . z
o k=1 k
(11 -
[10g[z.;.}+{¥“1 g( J+10g[z.;.}]

argi2 -z 1
5 [lc:g[z.:.]- + lg—D}J (lng(—} +logizg }J -
2@ oty

© 1)k 2 - z.;.} 5 } IR [11 — Zg) z.;“]z

Elrg{E - z.:,}

2 |logiza) +

k=1 k=1
2
1 1 34
105{&]1105;11]—105;2:0.5: 10°
3lagiz)
—ar [5]—argtz ) k e o)
17 ks T El = il laglech i[—l} (2 —zg) 2 /
-— 4+ i + -
500 2 B4 k /
n—arg[é]—arg[m} a0 [—1].k E —z.;.}"c z.ﬁk
2|2 +logizg) -
o T 8G0) - ), k
k=1
- arg[ 5] —argizg) T— arg[ 5] —argizg)
2im i +logizg)-0.5|2in 0 +
2T 2
[1}[2z}z ‘”[1}[11z}z
lng[z.;.}—Z‘ b Z‘ 2
k=1 k=
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Furthermore:

1/6((((1/(((((log(5/4) (log(11) - log(2) (0.5)))/(3 log”2(2)))))))))"2 - 34/10"3 + 11/10

Input:
2
1 1 34 11
e A U
] 1-:-gn:§]-:l-:-gf.1n—l-:-g*.23 0.5) 10* 10
310ng2]
log(x) is the natural logarithm
Result:
2.7185509...

2.718559....x¢e

Alternative representations:

2
1 1 34 11 11 34 1 1
= -—t— = — - — 4 =
) 1.3.5.:%]a,].:.gun-].:.ngyn.m 108 10 10 103 6 -;—I:I.S'Ing:--:EH'lngl--:11]J]Dgt-l:f]
3laz?(2) 3log2i2)
2
1 1 34 11
i i i Bt
B ]u:-gl:%]-:]u:g-:ll]-]ug-:E]D.S] ]_I:I3 10
3'|Dg2-:2]
11 34 1 1

o ey
10 10® 6 ]Dg':rz]':—D.S]Dg':ﬂﬂngg':ZH]Dg':rIﬂDga':ll]ﬂngm:i]

3 (logia) logg(2))?

2
1 1 34 11 11 34 1 1
= -—t— =—-—=+ = |-
b6 1u:-gl:i:l-ﬂu:-g-:ll]—lng-:zlﬂjj 10° 10 10 1p® 6 -:—Lil-:—1I:I]+U.5Li1-:—1;|]Li1|:1-%]
3log2(2) 3 (~Lij (-1))2
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Series representations:

2
1 1 34 11
i o A
3] 105{5]11-:-5»:11_1—1-:-5:231:1.5_1 10* 10
3lagi2)
533 argi2 —x) = (- l}k (2 —x}k x* /
— +|3|2 l— logix) -
SDD[[”T In +g}& k /
2
arg{i—x g[—l}k[i—xkx'k
212 | -
¥ B + l0gix) L K
k=1
arg(ll - x arg(2 - x
[EIH{E—]IJ+IUE[I}—D.5[2!H{E—} +logix) -
Fig Fi8
“[1}[23: [1}[11x}x""
5 =5 orx <0
k:l =
2
1 1 4 11
3 ]ng{i]1105111]—]05;2:0.5] :|_I:I3 10
2lagi2)
533 arg(2 - zp) 1 @ 1k @2 -z gk /
— + |3 |log(= {—J[lo [—] logis J—
EDD+[[ED}+ i 1] s A kzi k /
ke
arg{E —z.;.} 1 =3 -1 E —z.;.j za"‘
2 |logizg)+ | ———— (lag(—]ﬁug[zu}]—
Zq = k

k
11 -
[lng[z.;.}+rrg[ z.;.}( ( J+lag[z.ﬂ}—

2
0.5 [lug[z.;.} + {@J [ (zl.;, J+ ll::g[zn}J -
Bopqfm z.;.} T R [—l}k[ll—zn}kzak]z
k=1 k=1 5
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1 1 34 11

= S mn
3] 1|:ugl:i]ﬂugfll]—lugfmﬂj] 10° 10
3log2i2)
( n—arg[i]—argtz ) k ko)
533 gl 20 % i i[—l} (2 -2p) = /
— + (¥ + logizg) - J
500 27 e k /
k=1
5 Wk
—arg| — |- argis 1S &
s T 3[430] (Zg) Slogia }—i[ 1y [4 z.;.} Zn
2 : k
k=1
m— arg[ 5] —argizg) - arg[ 5] —argizgh
2im =l +log(zg)-0.5(2ém 0 -
2m 2
e i I ¢ S e i -1 (11 -z z5¢
et k=1 k k=1 5

From the following closed form

1435+ 1757+ 13177
E84+7+07°

=~ 2.718558647251353561114

we obtain:

~1435 + Pi(175 + 131Pi) = x(58 + Pi + 9Pi*2)

Input:
1435 +x(175+131m) = x[58+fr+9fr2}
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Plot:

600 |

=

200 | >

3
|~
’A__.-'
4 2 g 2
- 300 |
.-"".-f B |
” .
~ .
- ~ 400 |
.-"-. |
.-"'f--'
o 600 |

Alternate forms:
~1435+1757+131x" = (58 +7+ 97" ) x

O x—rx-58x+1311° +1757-1435 =0

Alternate form assuming x>0:
7(175 +131m) - 1435 = 97" x + 7 x + 58 x

Expanded form:
143541757+ 1317° =9 x+mx+58x

Solution:
x = 2.7186

27186 = e

and:

_1435 + x(175 + 131x) = 2.7186(58 + x + 9x"2)

Input interpretation:
~1435 + x (175 + 131 x) = 2.7186 (58 + x + 9 x°)
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Plot:

\‘. G000 |

\\ 4000

2000 |

Alternate forms:
106.533x° + 172.281 x - 1592.68 = 0

131x% + 175 x — 1435 = 24.4674 (x* +0.111111 x + 6.44444)

Alternate form assuming x>0:
x (131 x + 175) - 1435 = 24.4674 x° + 2.7186 x + 157.679

Expanded form:
131x% + 175 x — 1435 = 24.4674 x° + 2.7186 x + 157.679

Solutions:
X = —4.75877

x = 3.1416

3.1416 ==

We have that:

-1435 + Pi*175 + 131Pi"2 < 2.7186(58 + Pi + 9Pi"2)

Input interpretation:
~1435 + 7% 175+ 131 2% <2.7186 (58 + 7+ 9 1}

Result:
True
Difference:
-0.00620159
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and:
2.7186(58 + Pi + 9Pi"2)

Input interpretation:
2.7186 (58 + 7+ 9 1)

Result:
407.703...

407.703...

Alternative representations:
2.7186 (58 + 7+ 91" ) = 2.7186 (58 + 180 * + 9 (180 *)°)

2.7186 (58 + 7+ 9 n°) = 2.7186 (58 — i log(— 1) + 9 (~i log(- 1))}

2.7186 (58 + m+9 1) = 2.7186 (58 + cos (=1} + 9 cos (- 1)%)

Series representations:

o EDE LI
2.7186 [58 +m+0 .?Tz] = 3914780402778 + 0.0277778 L T - LL 12k ]z]
-+ +

k=0 =0

S
2
2.7186 (58 +x+9x") = 97.8696 | 2.55556 — 1.94444 3’ ——— +| ) —

k=1[k] kzl[k]

2.7186 (58 + 71+ 91"} =

@ 2k 6450k |& 2% (-6+50k)
24 4674 5.44444+D.1111112‘—++ L—+

= () = ()

Integral representations:
2.7186 (58 + 71+ 91"} =

“oa l oo l
07 8606 [1.51111 +0.0555556 f dt + [ { dt]z]
Joo 1442 o 1+f2

e SINUE) wo SINUE) @
2.7186 (58 + 7+ 9 x| = 97.8696 [1.51111 +0.0555556 [ — dt+ [ [‘” : er ]
Jo Jo
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2.7186 (58 +m+9n°) =

=1 el
301.478 [D.4D2??3+D.D2????3 f V= dnu N1=4 dt]z]
<0 o

2.7186(58 + Pi + 9Pi"2) + 76
where 76 is a Lucas number

Input interpretation:
2.7186 (58 + 7+ 97°) + 76

Result:
483.703...

483.703.... result practically equal to Holographic Ricci dark energy model, where

YipE = 483.130.

Alternative representations:
2.7186 (58 +m + 9 x° )+ 76 = 76 + 2.7186 (58 + 180 ° + 9 (180 2%)

2.7186(58 +n +9 }Tz]- +76 =76+2.7186 (58 —ilog(-1)+ 9 (i logi- 1}}2}

2.7186(58 +m+9 Il'z} +76=76+2.7186 (58 + cos (-1} +9 cos 1~ 1}2]

Series representations:
2.7186 (58 + 71+ 91" )+ 76 =

L l}k ) [—llk
391.478 [0.596914 + 0.0277778 2‘ }_‘

1+2k & 1+2k
k=0 =

\A.l‘ Ek 9."1 Ek
2.7186 (58 +m+ 97" | + 76 = 97.8696 |3.3321 — 1.94444 " T > "

kzl[ k ] !

—
b
— e’

2.7186 (58 + 71+ 971" ) + 76 =

= 2% (_6+50k |& 2% 6+50K)
24.4674 9.55052+D.1111112‘—++ 2‘—+

k= [Bkk ] k= [Bkk J
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Integral representations:
2.7186 (58 + 71+ 91" ) + 76 =

“oa 1 oo l
07 8606 [2.38?55 +0.0555556 f dt + [ { dt]z]
Joo 1at? Joo 1442

2.7186 (58 + 71+ 91" ) + 76 =

a0 SITL(E} a0 sin(H)
07.8606 [2.38?55 +0.0555554 [ ; dt + [J - 7 dt]z]
Jo o

2.7186 (58 +m+ 97 ) + 76 =

391.478 [D.595914+D.n2????3 flv 1-¢2 .f,;n[flwf -2 .f,u]z]
Jo Jo

2.7186(58 + P1+ 9Pi"2) + 76 +11-golden ratio
where 76 and 11 are Lucas numbers

Input interpretation:
2.7186(58 + 1+ 977 )+ 76 + 11— ¢

# iz the golden ratio

Result:
493.085...

493.085.... result very near to the rest mass of Kaon meson 493.677

Alternative representations:
2.7186 (58 +7+ 91|+ 76 +11 - ¢ = B7 + 2 cos(216°) + 2.7186 (58 + 7 + 9 n°)

2.7186 (58 + 7+ 9 n%) + 76 + ll—¢:8?—2cns[g]+2.?185 (58+7+0 1%

2.7186 (58 + 1 +97°) + 76 + 11 —¢ = 87 + 2 cos(216°) + 2.7186 (58 + 180 ° + 9 (180 °°)
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Series representations:
2.7186 (58 +m+ 977 )+ 76 + 11 — ¢ =

LR L ® 1)k
—|-244.679 + ¢ - 1D3?44L 2k-3914?s T
R
=|:|

2.7186 (58 + 7+ 91" )+ 76+ 11 - ¢ =

o k o
2
—|-337.111 + ¢ + 190.302 2‘ o ~ 97.8696 2‘ el

kl[ ] ko1 2"’-]
k k
2.7186 (58 +m+ 9717 )+ 76 + 11 — ¢ =
2% 6 +50k) @ 9% (_6+50k)
_|-244.679 + ¢ 2?135}_‘—+-24.45?4 L—+
[3k] [3:{]
k=0 k=0
ke k

Integral representations:
2.7186 (58 +1+ 91 )+ 76 + 11 - ¢ =

o l o l
—[—244.5?9 +¢—5.4372 dt —97.8606 [{ d't]z]
0 148 Joo 14#8

2?185[58+}T+9}T}+?5+ll =
T H t
[2445?9+¢ 543?2[ sl }a —9?.8595” S“;[ }f:t]z]
Jo

2.7186(58 +7+ 91" )+ 76 + 11 — ¢ =

I m— 1 2
-[-244.5?9+¢- 10.8?44] vi1-t2 at-391.4?3“ Ly T dt} ]
0 wi(l

We have also:

Pi*(log(5/4) (log(11) - log(2) (0.5)))/(3 log2(2)) + 108/10"3 - golden ratio/10°5

1/10752* ((Pi*(log(5/4) (log(11) - log(2) (0.5)))/(3 log"2(2)) + 108/10"3 - golden
ratio/1075)))

Input:
1 lcg[i}llag[ll} -log(2)+0.5) qpg &
n + — =
10°2 3 log?(2) 0% 10°
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logix is the natural logarithm

# iz the golden ratio

Result:
1.105674... x 10732

1.105674...%10™

result practically equal to the value of Cosmological Constant 1.1056*107% m™

Alternative representations:
m{-0.5 ]Dg’,--:Z:H]Dg:,--:ll;lﬂngl-l{ 4E'|

5
nli]ug‘{;:lﬂcugli11]—1:ug|i2][l.5]] i @ 108 _ 4
g — T 7 )
3l0g2(2) 102 105 w0?  10° 3logsi2)
1|:|52 1052

n{]ng{i]1105111]—]0512]&5]] 108 s

2lagd(2) w? s
1|:|52 :
108 " n]u:ug'-:rz]n:—l:l.S]u:-g_'-:rzﬂu:ga-:ZHL:ug\:rz:l]u:ugan:lljjlngal:Ell
ST e
g 1m® 3 (logia) logg(2))?
1052
5 . . . 5
7 (log| ) ogi11)-logi2)0.5)) L84 18 s _ m (~Liy (~10)40.5 Liy {~1) Li {1- 7]
3log”(2) wé  10® 0% 10° 3 (-Liq (-1
- 1052

1|:|52
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Series representations:
{]Dg{i]ﬂugdl1]—103#2]0.5]] 108 &

3log?(2) METERET 3
1052 o
5 k(s Y _ %
E & 2 arg{; -X j = (-1) [4 —x} X
250 100000 | |°"T|T 2x |7 Ggm'kz_‘l k

arg(l]l —x arg(2 - x
E—}J +log(x) - 0.5 [Eurlgz—}J + log(x) -
m

[EI'IT{
2
aa a —*
(- 1} [2 x} x* (- 1} [11 x} X /
Z =2 /
k= k=1
arg(2 — x) e L B !
3|2 {—J log(x) - :
[ [ ¥ = + logix) kz_‘l E ,-"'

10000000 000000000000000000 000000000000000000 000000000 for

{k'gl,r II-:l-:-gnilh—]u:-g-:ZH:l 51'| \og p
+ — | —
5

3log?(2) 10 w0
1052 o
5
N e e [WES Y
250 ~ 100 000 +|m | log(=p) + og = +logiza) |-

(— l]lk {E - 20 }k zak

k=1 K
(2- 1

arg—z.;.}J (lng[— ] + logizg }] -
2p

(11 - 1
[log[z.;.}+ {—arg ZD}J (10g[—}+ lug[z.;.}]—
2 oty

5 [lag[z.;.} +
L8

i[l} 4 z.;.}zc,] Z‘

1T z.;.}kza“] /
/

argi2 —zg) [ [1 J ] LB [2—2.;.}*‘ z.g“‘ /
31 — | |log| — [+1 -
[ [Gg[z”“{ 2 J i e E; k /

10000000000000000000000D000000000000000000000000000000
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:r{]-:-gl{f]ﬂ-:-g-:11]—1-:-3-:2]0.5]]

-+ E o i
3lagi2) 10?108
10°2 .
- : ( n—arg[%]—arg[z,;,} w (-1 [i ‘zﬂ}k %
i g +|m|28m | +IDg[Z|:|}—
250 100000 2 k=1 &
n—arg[E]—arg[zﬂ}
2im = + logizg) -
2
n—arg[fﬂ]—argfzn} o [—l}k [E—ZI:I]'k Zﬁk
0512 logizn) - B
o ae + l0g(Z0 ) kz_i k
i[ 1} [11 Zl:n} ZD f
/
k=1
;r—arg[g]—ﬂl’gizu\‘ & -0 2-mf gt | ||
302 logiz
i 2}1- + E,' D} ‘S_‘ k .'III

10000000000000000000000000000000000000000000000000000

Integral representations:

n{].;.g{f]q]og<113—105<2?0-5?] log

3lagdi2) 0% 108 3 1
10% (/2L atf

[ms 1D"-‘BJ —drf-lxm"-“ J —Jt]z

j j —JE'EJE'1+4J J fz-:ch
o (4+t) (1 +t3) [4+t1}[1+1l:|t2}
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n{]ug{f]ﬂugt11]—1ng¢2:ﬂ.53] I
+

3lagi2) w? et
1|:|52

ooty T8 T(1+s oty T(—5P T(L+5
[1.D8><1Cl'53 j'“”}—“.ﬁ _1x107%7 ¢ JIM}—}“ _
—i a4y Irl-s) —i a4y rl-s)

ity (=5 T(1+5) i oty 45 [(—5)° T(1 + 5)
j — ds J d
i oty 45 T(=5)° I(1 + 5)
J ds
—i sy r(l-s)
ity 1078 T35 [(1 + 5) /
j ds |/
—i sa4y r[l—.‘i} .IIII

ioty T{—5)° (1 +5)
J —— ds for-1 <y <0
—i sy r(l-s)

1.66667 x 10722 ;r[ 5+

3.33333x107>3 ;T[

Conclusion

We highlight how the solutions are obtained from the development of the
various equations of Ramanujan's mathematics using methodically and logically
the numbers of the Lucas and Fibonacci sequences that are the basis of the
golden ratio 1.61803398 ....
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